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<tmx>7</tmx> ZO2E B
<reliability>= E</reliability> A2IE B2
<rnSt>40</rnSt> 285 B0
</data>

<data> 3¢ o HE
<mode>A02</mode> 34E 0L
<tmEf>2013-11-25 12:00</tmEF> yyyy—-mm-dd 12:00 2 A2
wf>REUS/wH> SAUE B
<tmn>4</tmn> ZM2E B
<tmx>7</tmx> XD2E B0
<reliability>% S</reliability> A& B
<rnSt>40</rSt> S5 B0
</data>

<data> 495 2 B
<mode>A02</mode> 4945 QENE

<tmEf>2013-11-26 00:00</tmEF>

yyyy—-mm-—dd 00:00 2 A2

wf>REES</wi>

SHOE e

<tmn>-2</tmn>

FM2E B

<tmx>6</tmx> D2 B

<reliability> 2 E</reliability> A2IE B

<rnSt>40</rnSt> 225 B0

</data>

<data> 425 08 HE2
<mode>A02</mode> 4295 FUE
<tmEf>2013-11-26 12:00</tmEF> yyyy-mm-dd 12:00 @& A&
<wi>R SR E</wi> SMOE ED

<tmn>-2</tmn>

M2 B




xml 2= xml &% b2
<tmx>6</tmx> D2 B2
<reliability>% S</reliability> A2IE B
<rnSt>40</rnSt> LSS E
</data>
<data> 5% 02 HE
<mode>A02</mode> 545 QEUE
<tmEf>2013-11-27 00:00</tmEf> yyyy—-mm-dd 00:00 H& Y A2
<wi>FR SR E</wi> SHOUE EHD
<tmn>-2</tmn> ANSE B
<tmx>5</tmx> HI25 B2
<reliability>% S</reliability> A& B
<rnSt>40</rnSt> 2+3E B
</data>
<data> 5245 o2 M8
<mode>A02</mode> 5% QS

<tmEf>2013-11-27 12:00</tmER>

yyyy—mm-dd 12:00 2 A=

<wf>S2l1 &/HI</wi>

MO B

<tmn>-2</tmn>

FMSE B

<tmx>5</tmx> N2 B0
<reliability>2 S</reliability> A2IE B
<rnSt>40</rnSt> P mat—=
</data>

<data> 6% 02 HE
<mode>A02</mode> 6% QEUEE

<tmEf>2013-11-28 00:00</tmEF>

yyyy—-mm-dd 00:00 H2 AlE

<wi>FR SR E</wi>

SHUE EHD

<tmn>-4</tmn> NS B
<tmx>2</tmx> Z D2 B2
<reliability> 2 E</reliability> A2IC B
<rnSt>40</rnSt> 2+2E B
</data>

<data> 62% 0l HE
<mode>A02</mode> 645 2502

<tmEf>2013-11-28 12:00</tmEf>

yyyy—mm-dd 12:00 2 AlE

wi>RE RS/ w>

SN0 B

<tmn>-4</tmn>

EIHSE B

<tmx>2</tmx> 02 B
<reliability> &2 S</reliability> AT EHj
<rnSt>40</rnSt> 2S5 B
</data>

<data> 72 02 HE
<mode>A02</mode> 79% QEUE
<tmEf>2013-11-29 00:00</tmEf> yyyy-mm-dd 00:00 & A2
wf>PREZ3</wH> SMOE B
<tmn>-6</tmn> M B
<tmx>2</tmx> ZOD2E B
<reliability>= E</reliability> A2IE B2
<rnSt>40</rnSt> 242E B
</data>

<data> 7945 0 HE
<mode>A02</mode> 74 2502
<tmEf>2013-11-29 12:00</tmEF> yyyy—-mm-dd 12:00 2 A2
w>RE X ZL/wh> A0S B
<tmn>-6</tmn> ZMeE B
<tmx>2</tmx> 02 B2
<reliability> &2 S</reliability> A2 T B
<rnSt>40</rSt> 2EE B
</data>

<data>

<mode>A01</mode>

<tmEf>2013-11-30 00:00</tmEF>

yyyy—mm-dd 00:00 H& & A

M

<wi>FRERE</w>

SHUE e

<tmn>-4</tmn>

ZNMeE B0

<tmx>5</tmx> ZD2E B
<reliability>= E</reliability> A2IE B
<rnSt>40</rnSt> 288 B0
</data>

<data> 99& o2 HE
<mode>A01</mode> 9% MU

<tmEf>2013-12-01 00:00</tmEf>

yyyy-mm-dd 00:00 & AlE

<wi>R SR E</wi>

SMOUE B

<tmn>-2</tmn>

ZM2E B0

<tmx>9</tmx> XD2E B0
<reliability> &2 S</reliability> AZ2IE B2
<rnSt>40</rSt> 285 B0
</data>

<data> 108= 02 8

<mode>A01</mode>

<tmEf>2013-12-02 00:00</tmEF>

yyyy—mm- dd 00:00 HE Y A=

<w>FRE RS </w>

SHOE e

<tmn>-1</tmn>

FM2E B

<tmx>8</tmx> D2 B

<reliability>2 E</reliability> A2 B3
<rnSt>40</rnSt> 24+EE B

</data>

</location> <location> Element tag 7|

<location wl_ver="3">

<location> Element ZJ|
SIUE FHICH TE X

<province>2 & & & AN </province>

ANATC GHE NAH (KA




xml 2&

xml &9

s [}

<city>& & </city>

HEFAIC0 OHE NAH(EH)

<data>

22 = 02 32

<mode>A02</mode>

29 QHUEE

<tmEf>2013-11-24 00:00</tmEF>

yyyy—-mm-dd 00:00 HE A2

wi>TR S S</wf>

MO B

<tmn>2</tmn>

FMSE B

<tmx>10</tmx>

Zo2E B0

<reliability>% S</reliability>

AlZlE B

<rnSt>40</rSt> P mat—=
</data>

<data> 295 o2 HE
<mode>A02</mode> 29% QS

<tmEf>2013-11-24 12:00</tmEF>

yyyy—mm-dd 12:00 2 A=

<wf>Seld Hi</wf>

MO B

<tmn>2</tmn>

ZM2E B0

<tmx>10</tmx>

D% e

<reliability>2 S</reliability>

Al2lE B

<rnSt>40</rnSt> 255 B0
</data>

<data> 3e&E ol HE
<mode>A02</mode> 3YsE QEUE

<tmEf>2013-11-25 00:00</tmEf>

yyyy—mm-dd 00:00 & Al=

<wf>Sel1 Hi</wf>

MO B

<tmn>4</tmn> ZMes B
<tmx>8</tmx> 02 B2
<reliability> &2 S</reliability> A2IE B
<rnSt>40</rnSt> 2S5 B
</data>

<data> 3¢S ol 32
<mode>A02</mode> 32% W

<tmEf>2013-11-25 12:00</tmEF>

yyyy-mm-dd 12:00 H& 2 A2

<w>FR SRS </wi>

SHUE EHD

<tmn>4</tmn> M B
<tmx>8</tmx> NS B
<reliability>% S</reliability> A2IE B
<rnSt>40</rnSt> 285 B0
</data>

<data> 495 08 3
<mode>A02</mode> 4945 QENE

<tmEf>2013-11-26 00:00</tmEf>

yyyy—-mm-dd 00:00 S A2

wi>RE RS/ w>

MO B

<tmn>-1</tmn>

ZMe2E B

<tmx>6</tmx> 02 B
<reliability> &2 S</reliability> A2IE B
<rnSt>40</rnSt> 2S5 B
</data>

<data> 425 2 EE
<mode>A02</mode> 4945 QS0

<tmEf>2013-11-26 12:00</tmEF>

yyyy—-mm-dd 12:00 S & A2

<wi>FRERE</w>

SHUE e

<tmn>-1</tmn>

ZNMeE B0

<tmx>6</tmx> ZD2E B
<reliability>% S</reliability> A2IE B
<rnSt>40</rnSt> 288 B0
</data>

<data> 5% 02 HE
<mode>A02</mode> 525 QAU
<tmEf>2013-11-27 00:00</tmEF> yyyy—-mm-dd 00:00 H& S A2
wf>REUSI/wH> A0S B
<tmn>0</tmn> ZMeE B
<tmx>5</tmx> 02 B
<reliability>% S</reliability> A2E B
<rnSt>40</rSt> 2S5 B
</data>

<data> 5= E BE
<mode>A02</mode> 525 QSWE

<tmEf>2013-11-27 12:00</tmEF>

yyyy—-mm-dd 12:00 S & A2

<wf>PE %D =/HI</wf>

SHUE e

<tmn>0</tmn> ZM2E B
<tmx>5</tmx> D2 B
<reliability> 2 E</reliability> A2IE B
<rnSt>40</rnSt> 288 B0
</data>

<data> 6% 02 HE
<mode>A02</mode> 6% 2HUE
<tmEf>2013-11-28 00:00</tmEf> yyyy—-mm-dd 00:00 H& Y A2
wf>REUS/wH> SAUE B
<tmn>-3</tmn> ZMEE B
<tmx>3</tmx> XD2E B0
<reliability> &2 S</reliability> A& B
<rnSt>40</rSt> 285 B0
</data>

<data> 6= E B
<mode>A02</mode> 62% 20

<tmEf>2013-11-28 12:00</tmEF>

yyyy—-mm-dd 12:00 @2 A2

<wi>HA S S</wf>

SHUE e

<tmn>-3</tmn>

FM2E B

<tmx>3</tmx>

ZO=25 B

<reliability> 2 E</reliability>

AlZIE B0




xml 2E xml &% s [}
<rnSt>40</rnSt> P mat—2=
</data>
<data> 72 02 32
<mode>A02</mode> 79% QEUE
<tmEf>2013-11-29 00:00</tmEf> yyyy-mm-dd 00:00 H& Y A2
wf>REZ3</wH> SMOE B2
<tmn>-5</tmn> ANSE B
<tmx>5</tmx> HI2% B
<reliability> &2 S</reliability> A& B
<rnSt>40</rnSt> 255 B0
</data>
<data> 79% 0 HE
<mode>A02</mode> 79% 2SME
<tmEf>2013-11-29 12:00</tmEf> yyyy—-mm-dd 12:00 @2 A2
wiH>REZEZL/wH> SAOE B
<tmn>-5</tmn> IAM2E B
<tmx>5</tmx> N2 B0
<reliability>2 S</reliability> A2IE B
<rnSt>40</rnSt> P mat—=
</data>
<data> 8= o2 HE

<mode>A01</mode>

<tmEf>2013-11-30 00:00</tmEF>

yyyy-mm-dd 00:00 &

L0
1o
>
AL

wf>PREZS</wH> SMUE B
<tmn>-4</tmn> M B
<tmx>6</tmx> NS B
<reliability> 2 E</reliability> A2IE B
<rnSt>40</rnSt> 285 B0
</data>

<data> 92& ol HE
<mode>A01</mode> 92 MU

<tmEf>2013-12-01 00:00</tmEf>

yyyy—-mm-dd 00:00 S A2

w>RE RS/ w>

SN0 B

<tmn>-2</tmn>

ZMe2E B

<tmx>7</tmx> 02 B
<reliability> &2 S</reliability> A2IE B
<rnSt>40</rnSt> 2S5 B
</data>

<data> 102 02 B

<mode>A01</mode>

<tmEf>2013-12-02 00:00</tmEF>

yyyy-mm-dd 00:00 & A2

<w>FR SRS </wi>

SHUE e

<tmn>-1</tmn>

ZM2E B0

<tmx>7</tmx> NS B

<reliability> 2 E</reliability> A2IE B
<rnSt>40</rnSt> 285 B0

</data>

</location> <location> Element tag &J]

<location wl_ver="3">

<location> Element & |

SO0E REIC0 ME XS IM L HE FE
<province>2Z & & A M </province> ANHIDE e NAH(ZAEHA)
<city>® F=</city> HEFRAICH OE NAH(RA=F)

<data> 225 02 EE
<mode>A02</mode> 2285 QEUE
<tmEf>2013-11-24 00:00</tmEf> yyyy-mm-dd 00:00 & Al=
<wi>RE RS/ wi> MO BN

<tmn>2</tmn> ZMeE B

<tmx>11</tmx>

02 B0

<reliability>=2 E</reliability>

Al2lE B

<rnSt>40</rSt> 285 B
</data>

<data> 2= e B8
<mode>A02</mode> 295 QS0

<tmEf>2013-11-24 12:00</tmER>

yyyy-mm-dd 12:00 2 AlE

<wf>SelD HI</wf>

SHUE e

<tmn>2</tmn>

ZNMeE B0

<tmx>11</tmx>

025 B0

<reliability>% S</reliability>

Al2IE B0

<rnSt>40</rnSt> 288 B0
</data>

<data> 3¢ e 32
<mode>A02</mode> 32= MU

<tmEf>2013-11-25 00:00</tmEf>

yyyy-mm-dd 00:00 & AlE

<wf>Seld Hi</wf>

SMOUE B

<tmn>4</tmn> ZMEE B
<tmx>8</tmx> XD2E B0
<reliability> &2 S</reliability> A& B
<rnSt>40</rSt> S5 B0
</data>

<data> 3= HE BE
<mode>A02</mode> 3% 2302

<tmEf>2013-11-25 12:00</tmEF>

yyyy—-mm-—dd 12:00 @2 A2

<w>FRERS</w>

SR e

<tmn>4</tmn> IMSE B
<tmx>8</tmx> Z02E B
<reliability>% S</reliability> A2IE B
<rnSt>40</rnSt> 2488 B0
</data>

<data> 425 08 HE2




xml 2&

xml &9

s [}

<mode>A02</mode>

495 QEUE

<tmEf>2013-11-26 00:00</tmEf>

yyyy—mm-dd 00:00 & A=

wi>TR S S</wf>

=L 01|E B

<tmn>-1</tmn> NS B
<tmx>6</tmx> Z02 E EH
<reliability>2 S</reliability> AZ2E B3
<rnSt>40</rSt> 2428 B
</data>

<data> 494% 02 B2
<mode>A02</mode> 4295 QENE
<tmEf>2013-11-26 12:00</tmEf> yyyy-mm-dd 12:00 H2 A2
<wi>FR SRS </wi> SHOUE EHD
<tmn>-1</tmn> ANSE B
<tmx>6</tmx> HI2% B2
<reliability>% S</reliability> A& B
<rnSt>30</rnSt> 225 B
</data>

<data> 525 o2 ¥
<mode>A02</mode> 525 QEUE

<tmEf>2013-11-27 00:00</tmEf>

yyyy—mm-dd 00:00 & A=

wi>TR S S</wf>

MO B

<tmn>0</tmn> IAM2E B
<tmx>5</tmx> Z D25 B
<reliability>% S</reliability> A2 & B
<rnSt>30</rnSt> 24+EE B0
</data>

<data> 5% 02 HE
<mode>A02</mode> 52% QW

<tmEf>2013-11-27 12:00</tmEF>

yyyy-mm-dd 12:00 2 AlE

<wB>FR S =/HI</wh>

SHUE EHD

<tmn>0</tmn> M2 B
<tmx>5</tmx> NS B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 62% 0l HE
<mode>A02</mode> 62% 2FUE

<tmEf>2013-11-28 00:00</tmEf>

yyyy—-mm-dd 00:00 S A2

wi>RE RS/ w>

SN0 B

<tmn>-3</tmn>

EIHSE B

<tmx>3</tmx> 02 B
<reliability> &2 S</reliability> AT EHj
<rnSt>30</rnSt> 2S5 B
</data>

<data> 6= 02 2
<mode>A02</mode> 645 0L

<tmEf>2013-11-28 12:00</tmEF>

yyyy—-mm-dd 12:00 S & A2

<wi>FRERE</w>

SHUE e

<tmn>-3</tmn>

ZNMeE B0

<tmx>3</tmx> ZD2E B
<reliability>= E</reliability> A2IE B2
<rnSt>30</rnSt> 285 B0
</data>

<data> 7945 0 HE
<mode>A02</mode> 74 QEUE
<tmEf>2013-11-29 00:00</tmEf> yyyy—-mm-dd 00:00 H& S A2
w>RE X ZL/wh> A0S B
<tmn>-4</tmn> ZMeE B
<tmx>5</tmx> 02 B2
<reliability> &2 S</reliability> A2 T B
<rnSt>30</rSt> 2EE B
</data>

<data> 722 HE B
<mode>A02</mode> 7945 SME
<tmEf>2013-11-29 12:00</tmEf> yyyy—-mm-dd 12:00 2 A2
wf>PREZS</wH> SAOE B
<tmn>-4</tmn> ZM2E B
<tmx>5</tmx> ZD2E B
<reliability>= E</reliability> A2IE B
<rnSt>30</rnSt> 2488 B0
</data>

<data> 8= ol 8

<mode>A01</mode>

<tmEf>2013-11-30 00:00</tmEf>

yyyy-mm-dd 00:00 & AlE

wf>REE3/wH> SAUE B
<tmn>-3</tmn> ZMEE B
<tmx>6</tmx> XD2E B0
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 2EE B
</data>

<data> 9= e BE
<mode>A01</mode> 92 MU

<tmEf>2013-12-01 00:00</tmEF>

yyyy—mm-—dd 00:00 2 A2

<w>FRERS</w>

SHOE e

<tmn>-2</tmn>

FM2E B

<tmx>7</tmx> Z02E B2
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 288 B0

</data>




xml 2&

xml &9

s [}

<data>

<mode>A01</mode>

<tmEf>2013-12-02 00:00</tmEF>

yyyy-mm-dd 00:00 HE AlE

wf>PEUS/wH> SMOE B
<tmn>-1</tmn> ANSE B
<tmx>7</tmx> HI2% B2

<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 225 B

</data>

</location> <location> Element tag EJ|

<location wl_ver="3">

<location> Element 2|
02 FHEICU TE X

<province>2 & & & E</province>

<city>2 E</city>

oA
NI MHE XNAH (XIS
HEFADIC0 OHE XS (2

<data>

2¢ = 02 32

<mode>A02</mode>

29 2FE S

<tmEf>2013-11-24 00:00</tmEF>

yyyy-mm-dd 00:00 HZ AlE

wi>TR S S</wf>

MO B

<tmn>6</tmn>

FM2E B

<tmx>14</tmx>

Zo2E B0

<reliability>% S</reliability>

AlZlE B

<rnSt>30</rSt> 2=
</data>

<data> 295 o2 HE
<mode>A02</mode> 295 QS0

<tmEf>2013-11-24 12:00</tmEF>

Y
e
=
AT

yyyy—mm-dd 12:00 &

<wf>SelD HI</wf>

SHUE EHD

<tmn>6</tmn>

ZM2E B0

<tmx>14</tmx>

Z D2 B2

<reliability> 2 E</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0
</data>

<data> 3YUS o2 ¥
<mode>A02</mode> 3YSE QEUE

<tmEf>2013-11-25 00:00</tmEf>

yyyy—-mm-dd 00:00 S A2

<wf>Sel HI</wi>

MO B

<tmn>8</tmn>

ZMe2E B

<tmx>10</tmx>

Z02&E B0

<reliability> & S</reliability>

AlZlE B

<rnSt>30</rnSt> 2S5 B
</data>

<data> 3¢S ol 32
<mode>A02</mode> 32% W

<tmEf>2013-11-25 12:00</tmER>

yyyy-mm-dd 12:00 H& A2

<w>FR SRS </wi>

SHUE EHD

<tmn>8</tmn>

ZM2E B0

<tmx>10</tmx>

2025 B0

<reliability> 2 E</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0
</data>

<data> 4945 08 3
<mode>A02</mode> 4945 QEUE
<tmEf>2013-11-26 00:00</tmEF> yyyy—-mm-dd 00:00 H& S A2
wf>REUSI/wH> A0S B
<tmn>1</tmn> ZMeE B
<tmx>7</tmx> 02 B
<reliability>=2 E</reliability> A2IE B
<rnSt>30</rSt> 285 B
</data>

<data> 425 2 EE
<mode>A02</mode> 4945 QS0

<tmEf>2013-11-26 12:00</tmEF>

yyyy—-mm-dd 12:00 S & A2

<wi>FRERE</w>

SHUE e

<tmn>1</tmn>

ZNMeE B0

<tmx>7</tmx> ZO2E B
<reliability>= E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 5% 02 32
<mode>A02</mode> 52% 2HMUHE
<tmEf>2013-11-27 00:00</tmEf> yyyy—-mm-dd 00:00 H& Y A2
wf>REUS/wH> SAUE B
<tmn>2</tmn> ZMEE B
<tmx>6</tmx> XD2E B0
<reliability>% S</reliability> A& B
<rnSt>30</rnSt> S5 B0
</data>

<data> 52% E BE
<mode>A02</mode> 5% QS

<tmEf>2013-11-27 12:00</tmEF>

yyyy—-mm-dd 12:00 S A2

wi>REES</wi>

SHOE e

<tmn>2</tmn> IANSE B
<tmx>6</tmx> D2 B
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> 2488 B0
</data>

<data> 6= 02 8
<mode>A02</mode> 6LE QEUE

<tmEf>2013-11-28 00:00</tmEf>

yyyy-mm-dd 00:00 & Al=




xml 2E xml &% b2
wf>PEUSI/wH> SAOE B
<tmn>-1</tmn> IAM2E B
<tmx>4</tmx> N2 B0
<reliability>2 S</reliability> A2IE B
<rnSt>30</rnSt> 2=
</data>
<data> 6% 02 HE
<mode>A02</mode> 6% FME
<tmEf>2013-11-28 12:00</tmEf> yyyy-mm-dd 12:00 H2 A2
wf>REUS/wH> SAUE B
<tmn>-1</tmn> ANSE B
<tmx>4</tmx> D2E B
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 255 B
</data>
<data> 79% 0 HE
<mode>A02</mode> 745 QEUE
<tmEf>2013-11-29 00:00</tmEf> yyyy—-mm-—dd 00:00 S A2
wiH>REZEZL/w> A0S B
<tmn>-2</tmn> AM2E B
<tmx>5</tmx> N2 B0
<reliability>2 S</reliability> A2IE B
<rnSt>30</rnSt> P mat—=
</data>
<data> 72 02 HE
<mode>A02</mode> 79% EWE
<tmEf>2013-11-29 12:00</tmEf> yyyy-mm-dd 12:00 H& A2
wf>PREES</wH> SMUE B
<tmn>-2</tmn> M2 B
<tmx>5</tmx> NS B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>
<data> 82 & G2 HE
<mode>A01</mode> 82 & MAUME
<tmEf>2013-11-30 00:00</tmEf> yyyy—-mm-dd 00:00 S A2
wH>RE X ZL/w> A0S B
<tmn>0</tmn> ZMes B

<tmx>10</tmx>

Z02&E B0

<reliability> & S</reliability>

AlZlE B

<rnSt>30</rnSt> 2S5 B
</data>
<data> 9SOl EE

<mode>A01</mode>

<tmEf>2013-12-01 00:00</tmEF>

2l

yyyy-mm-dd 00:00 H& < Al

wf>PREZS</wH>

SHUE EHD

<tmn>3</tmn>

ZNMeE B0

<tmx>11</tmx>

025 B0

<reliability>% S</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0

</data>

<data> 1095 Ol2 8
<mode>A01</mode> 1025 Mo
<tmEf>2013-12-02 00:00</tmEf> yyyy—-mm-dd 00:00 H& S A2
wf>REUSI/wH> A0S B

<tmn>4</tmn> ZMeE B

<tmx>11</tmx>

02 B0

<reliability>=2 E</reliability>

Al2lE B

<rnSt>30</rSt> 285 B
</data>
</location> <location> Element tag & 7|

<location wl_ver="3">

<location> Element 2|
SI0E PEICH O NS <

<province>&EH S &</province>

NADCH ME NAH(SHS

<city>& =</city>

S5)
HERAICH OE NAH(HF)

<data>

2e= 02 3%

<mode>A02</mode>

29 % QEUE

<tmEf>2013-11-24 00:00</tmEF>

AL

yyyy—-mm-dd 00:00 HE & Al

<wi>FRERE</w>

SHUE e

<tmn>3</tmn>

FM2E B

<tmx>12</tmx>

Zo2E B0

<reliability> 2 E</reliability>

AlZIE B

<rnSt>30</rnSt> 288 B0
</data>

<data> 22 02 32
<mode>A02</mode> 245 2502

<tmEf>2013-11-24 12:00</tmEf>

yyyy—-mm-dd 12:00 S A2

<wf>Seld Hi</wf>

SMOUE B

<tmn>3</tmn>

ZM2E B0

<tmx>12</tmx>

FD2E B

<reliability>=2 E</reliability>

Al2lE BT

<rnSt>30</rnSt> S5 B0
</data>

<data> 3= HE BE
<mode>A02</mode> 39% QEUE

<tmEf>2013-11-25 00:00</tmEF>

yyyy-mm-dd 00:00

[
10
e
=
AL

<wf>5eld Hi</wf>

SHUE e

<tmn>5</tmn>

FM2E B

<tmx>8</tmx>

ZO=25 B




xml 2&

xml &9

s [}

<reliability>2 S</reliability>

<rnSt>30</rnSt> 255 B
</data>

<data> 3e&E o HE
<mode>A02</mode> 32E 25U

<tmEf>2013-11-25 12:00</tmEf>

yyyy—mm-dd 12:00 2 A=

wf>TR S S</wf>

MO B

<tmn>5</tmn> AM2E B3
<tmx>8</tmx> N2 B0
<reliability>% S</reliability> AZE B0
<rnSt>30</rSt> P mat—=
</data>

<data> 425 02 32
<mode>A02</mode> 425 QENE
<tmEf>2013-11-26 00:00</tmEf> yyyy-mm-dd 00:00 H& A2
wf>REUS/wH> SMOE B
<tmn>0</tmn> ANSE B
<tmx>7</tmx> D2E B
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 255 B0
</data>

<data> 495 02 BS
<mode>A02</mode> 4945 @50

<tmEf>2013-11-26 12:00</tmEf>

yyyy—mm-dd 12:00 2 AlE

wi>RE RS/ w>

MO B

<tmn>0</tmn> ZMes B
<tmx>7</tmx> 02 B
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> 2S5 B
</data>

<data> 545 o2 2
<mode>A02</mode> 52% QEUE

<tmEf>2013-11-27 00:00</tmEF>

yyyy-mm-dd 00:00 & A2

<w>FR SRS </wi>

SHUE EHD

<tmn>2</tmn> M2 B
<tmx>6</tmx> NS B
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 5% 02 HE
<mode>A02</mode> 525 QSWE

<tmEf>2013-11-27 12:00</tmEf>

yyyy—mm-dd 12:00 2 AlE

<wf>SelD &/8I</wf>

SN0 B

<tmn>2</tmn> FAMSE B0
<tmx>6</tmx> 02 B
<reliability> &2 S</reliability> A2IE B
<rnSt>30</rSt> 285 B
</data>

<data> 62= 0E BE
<mode>A02</mode> 6% QEUEE

<tmEf>2013-11-28 00:00</tmEF>

yyyy—-mm-dd 00:00 2 & A2

<w>FRERE</w>

SHUE e

<tmn>-1</tmn>

ZNMeE B0

<tmx>5</tmx> ZO2E B
<reliability>% S</reliability> A2IE B2
<rnSt>30</rnSt> 288 B0
</data>

<data> 625 02 HE
<mode>A02</mode> 4% 20 E
<tmEf>2013-11-28 12:00</tmEF> yyyy—-mm-dd 12:00 2 A2
wf>REUSI/wH> A0S B
<tmn>-1</tmn> ZMeE B
<tmx>5</tmx> 02 B
<reliability>% S</reliability> A2E B
<rnSt>30</rSt> 285 B
</data>

<data> 74= e 32
<mode>A02</mode> 795 QEUE
<tmEf>2013-11-29 00:00</tmEf> yyyy—-mm-dd 00:00 HE & AlIZ
wf>PREZS</wH> SMUE B
<tmn>-2</tmn> IANSE B
<tmx>6</tmx> D2 B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 288 B0
</data>

<data> 722 02 32
<mode>A02</mode> 7€% 2302
<tmEf>2013-11-29 12:00</tmEF> yyyy-mm-dd 12:00 H2 A2
wf>REE3/wH> SAUE B
<tmn>-2</tmn> ZMEE B
<tmx>6</tmx> XD2E B0
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> S5 B0
</data>

<data> 8= e BE

<mode>A01</mode>

<tmEf>2013-11-30 00:00</tmEF>

yyyy—-mm-—dd 00:00 2 A2

<wi>HA S S</wf>

SHUE e

<tmn>-1</tmn>

FM2E B




xml 2E xml &% s [}
<tmx>7</tmx> 02 B2
<reliability>2 S</reliability> A2IE B
<rnSt>30</rnSt> P mat—=
</data>
<data> 9¢s ol EE

<mode>A01</mode>

<tmEf>2013-12-01 00:00</tmEF>

yyyy—-mm-dd 00:00 HZ AlE

wf>REUS/wH> SAOE B2
<tmn>1</tmn> ANSE B
<tmx>9</tmx> HI25 B2
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 285 B0
</data>

<data> 1025 02 88

<mode>A01</mode>

1082 M0

<tmEf>2013-12-02 00:00</tmEf>

yyyy—mm-dd 00:00 HE & A=

wi>TR S S</wf>

MO B

<tmn>1</tmn>

FMSE B

<tmx>7</tmx> Z D25 B

<reliability>2 S</reliability> A2IE B
<rnSt>30</rnSt> 228 e

</data>

</location> <location> Element tag EJI

<location wl_ver="3">

<location> Element &7

SO0E PHICH TGE XA M & H

<province>tH& - ME - EHE E</province>

<city>H & </city>

ANADCH ME NAH (KA - SHEE)
HEAADCN GHE XAS(HA)

<data>

22 02 ¥

<mode>A02</mode>

29 o0

<tmEf>2013-11-24 00:00</tmEF>

yyyy—-mm-dd 00:00 H& & A2

<w>FR SR E</wi>

SHUE EHD

<tmn>4</tmn>

ZM2E B0

<tmx>12</tmx>

Z D2 B

<reliability> 2 E</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0
</data>

<data> 29% 02 HSE
<mode>A02</mode> 225 20

<tmEf>2013-11-24 12:00</tmER>

yyyy-mm-dd 12:00 H& A&

<wf>Seld HI</wi>

MO B

<tmn>4</tmn>

ZMe2E B

<tmx>12</tmx>

Z02&E B0

<reliability> & S</reliability>

AlZlE B

<rnSt>30</rnSt> 2S5 B
</data>

<data> 3¢S ol 32
<mode>A02</mode> 39% QEUE

<tmEf>2013-11-25 00:00</tmEF>

yyyy—-mm-dd 00:00 2 & A2

<wf>SelD HI</wf>

SHUE e

<tmn>4</tmn> ZM2E B
<tmx>7</tmx> ZD2E B
<reliability>= E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 32 e HE
<mode>A02</mode> 34E 0L
<tmEf>2013-11-25 12:00</tmEF> yyyy—-mm-dd 12:00 2 A2
wf>REUSI/wH> A0S B
<tmn>4</tmn> ZMeE B
<tmx>7</tmx> 02 B
<reliability>% S</reliability> A2IE B
<rnSt>30</rSt> 285 B
</data>

<data> 425 2 EE
<mode>A02</mode> 4945 QEME

<tmEf>2013-11-26 00:00</tmEF>

yyyy—-mm-dd 00:00 2 & A2

<wi>FRERE</w>

SHUE e

<tmn>1</tmn>

ZNMeE B0

<tmx>7</tmx> ZO2E B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 288 B0
</data>

<data> 492 02 32
<mode>A02</mode> 4195 QS E
<tmEf>2013-11-26 12:00</tmEF> yyyy—-mm-dd 12:00 $& A2
wf>REUS/wH> SAUE B
<tmn>1</tmn> ZMEE B
<tmx>7</tmx> XD2E B0
<reliability> % Z</reliability> A2IE B2
<rnSt>30</rnSt> 285 B0
</data>

<data> 52% E BE
<mode>A02</mode> 5% QEUE

<tmEf>2013-11-27 00:00</tmEF>

yyyy—mm-—dd 00:00 S A2

<wi>HA S S</wf>

SHUE e

<tmn>1</tmn>

FM2E B

<tmx>6</tmx>

ZO=25 B

<reliability>% S</reliability>

AlZIE B0

<rnSt>30</rnSt>

Z=E B




xml 2= xml &9 b2
</data>
<data> 525 o2 M8
<mode>A02</mode> 525 QS

<tmEf>2013-11-27 12:00</tmER>

yyyy—mm-dd 12:00 2 AlE

<wf>S2l1 &/HI</wi>

MO B

<tmn>1</tmn>

FMSE B

<tmx>6</tmx> N2 B0
<reliability>2 S</reliability> A2IE B
<rnSt>30</rnSt> P mat—=
</data>

<data> 6% 02 HE
<mode>A02</mode> 6% QEUE

<tmEf>2013-11-28 00:00</tmEF>

yyyy-mm-dd 00:00 HZ & AlE

<wi>F SR =/HI</wh>

MO B

<tmn>0</tmn> ANSE B
<tmx>5</tmx> HI25 B
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 255 B0
</data>

<data> 6% 0l HE
<mode>A02</mode> 625 2SUE

<tmEf>2013-11-28 12:00</tmEf>

yyyy—mm-dd 12:00 2 AlE

<wi>TR S0 =/HI</wh>

MO B

<tmn>0</tmn> ZMes B
<tmx>5</tmx> 02 B2
<reliability> &2 S</reliability> A2IE B
<rnSt>30</rnSt> 2S5 B
</data>

<data> 72 02 HE
<mode>A02</mode> 79% QEUE

<tmEf>2013-11-29 00:00</tmEF>

yyyy—-mm-dd 00:00 & A2

<wf>PEU D =/HI</w>

SHUE EHD

<tmn>-2</tmn>

ZM2E B0

<tmx>6</tmx> NS B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 794% 0l HE
<mode>A02</mode> 795 2SME

<tmEf>2013-11-29 12:00</tmEf>

yyyy—mm-dd 12:00 2 AlE

wi>RE RS/ w>

MO B

<tmn>-2</tmn>

ZMe2E B

<tmx>6</tmx> 02 B
<reliability>'% S</reliability> AZE B
<rnSt>30</rnSt> 2S5 B
</data>

<data>

<mode>A01</mode>

<tmEf>2013-11-30 00:00</tmEF>

yyyy—-mm-dd 00:00 HE & AlIZ

<wi>FRERE</w>

SHUE e

<tmn>-1</tmn>

ZNMeE B0

<tmx>7</tmx> ZD2E B
<reliability>= E</reliability> A2IE B
<rnSt>30</rnSt> 288 B0
</data>

<data> 99& o2 HE

<mode>A01</mode>

<tmEf>2013-12-01 00:00</tmEf>

yyyy—-mm-dd 00:00 H& S A2

wf>REUSI/wH> A0S B
<tmn>1</tmn> ZMeE B
<tmx>9</tmx> 02 B
<reliability> &2 S</reliability> A2E B
<rnSt>30</rSt> 2S5 B
</data>

<data> 102% 02 B

<mode>A01</mode>

<tmEf>2013-12-02 00:00</tmEF>

yyyy—-mm-dd 00:00 HE & AlIZ

<wi>FRERE</w>

SHUE e

<tmn>2</tmn> ZM2E B
<tmx>9</tmx> D2 B

<reliability>2 E</reliability> A2IE B
<rnSt>30</rnSt> 288 B0

</data>

</location> <location> Element tag 7|

<location wl_ver="3">

<location> Element ZJ|
SO0E FSEICH T2 NS LM

<province>t& - ME - EF E</province>

ANATCH OHE NAH(UHE - MS -

9 HE
Hy

8
SIHE

)

<city>AM &k</city>

HEFADC OHE XAH (ML)

<data>

22 02 ¥

<mode>A02</mode>

223 QHEUE

<tmEf>2013-11-24 00:00</tmEf>

yyyy—mm-—dd 00:00 2 A2

<wi>R SR E</wi>

SMOUE B

<tmn>3</tmn>

ZM2E B0

<tmx>11</tmx>

FD2E B

<reliability> 2 E</reliability>

A2E B

<rnSt>30</rnSt> 255 B0
</data>

<data> 222 E BE
<mode>A02</mode> 29 % QML




xml 2&

xml &9

s [}

<tmEf>2013-11-24 12:00</tmEF>

yyyy—mm-dd 12:00 2 A=

<wf>Seld Hi</wf>

MO B

<tmn>3</tmn>

ZM2E B0

<tmx>11</tmx>

D% e

<reliability>2 S</reliability>

Al2IE B0

<rnSt>30</rnSt> 255 B0
</data>

<data> 3e& ol HE
<mode>A02</mode> 3YSE QEUE

<tmEf>2013-11-25 00:00</tmEf>

yyyy—mm-—dd 00:00 HE & A=

<wf>Sel1 Hi</wi>

MO B

<tmn>3</tmn> AM2E B
<tmx>6</tmx> N2 B0
<reliability>2 S</reliability> A2IE B
<rnSt>30</rSt> P mat—=
</data>

<data> 3¢ 02 32
<mode>A02</mode> 32% QFME
<tmEf>2013-11-25 12:00</tmEf> yyyy-mm-dd 12:00 H2 A2
wf>REUS/wH> SMOE B2
<tmn>3</tmn> ANSE B
<tmx>6</tmx> HI2% B2
<reliability> S</reliability> A& B
<rnSt>30</rnSt> 285 B0
</data>

<data> 4945 08 8
<mode>A02</mode> 4945 QENE

<tmEf>2013-11-26 00:00</tmEf>

yyyy—-mm-dd 00:00 S A2

w>RE RS/ w>

SN0 B

<tmn>1</tmn>

ZMe2E B

<tmx>6</tmx> 02 B
<reliability> &2 S</reliability> A2IE B
<rnSt>30</rnSt> 2S5 B
</data>

<data> 49% 02 B2
<mode>A02</mode> 4945 QB0

<tmEf>2013-11-26 12:00</tmER>

yyyy-mm-dd 12:00 H& A2

<w>FR SRS </wi>

SHUE e

<tmn>1</tmn>

ZM2E B0

<tmx>6</tmx> NS B
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 5% 02 HE
<mode>A02</mode> 5dS QEUE
<tmEf>2013-11-27 00:00</tmEf> yyyy—-mm-dd 00:00 S A2
wf>REUSI/wH> A0S B
<tmn>0</tmn> ZMeE B
<tmx>5</tmx> 02 B
<reliability>% S</reliability> A2E B
<rnSt>30</rSt> 285 B
</data>

<data> 5= E BE
<mode>A02</mode> 525 QSHE

<tmEf>2013-11-27 12:00</tmEF>

yyyy—-mm-dd 12:00 2 & A2

<wf>Seld E/HI</wh>

SHUE e

<tmn>0</tmn> ZM2E B
<tmx>5</tmx> ZD2E B
<reliability>= E</reliability> A2IE B2
<rnSt>30</rnSt> 288 B0
</data>

<data> 625 02 HE
<mode>A02</mode> 625 QEUE

<tmEf>2013-11-28 00:00</tmEf>

yyyy—-mm-dd 00:00 H& S A2

<wi>R SR =/HI</wh>

MO B

<tmn>-1</tmn>

ZM2E B

<tmx>4</tmx> 02 B
<reliability>=2 E</reliability> A2E B
<rnSt>30</rSt> 285 B
</data>

<data> 6= E B
<mode>A02</mode> 6% S0 E

<tmEf>2013-11-28 12:00</tmEF>

yyyy—-mm-dd 12:00 2 A2

<wf>PE %D =/HI</w>

SHOE e

<tmn>-1</tmn>

FM2E B

<tmx>4</tmx> D2 B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 288 B0
</data>

<data> 722 02 32
<mode>A02</mode> 7€% 28U

<tmEf>2013-11-29 00:00</tmEf>

yyyy-mm-dd 00:00 & AlE

<wi>R SR =/HI</wh>

SMOUE B

<tmn>-3</tmn>

ZM2E B0

<tmx>5</tmx> XD2E B0
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 285 B0
</data>

<data> 722 HE B




xml 2&

xml &9

s [}

<mode>A02</mode>

72% 2508

<tmEf>2013-11-29 12:00</tmEf>

yyyy—mm-dd 12:00 2 AlE

wi>TR S S</wf>

MO B

<tmn>-3</tmn>

FM2E B

<tmx>5</tmx> 02 B
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> P mat—=
</data>

<data> 8= o2 HE

<mode>A01</mode>

8= Foloe

<tmEf>2013-11-30 00:00</tmEF>

yyyy-mm-dd 00:00 H& Al

AL

wf>PEUS</wH> SMOE B
<tmn>-1</tmn> ANSE B
<tmx>6</tmx> HI2% B2
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 285 B0
</data>

<data> 92s o2 ¥

<mode>A01</mode>

<tmEf>2013-12-01 00:00</tmEf>

yyyy—mm-dd 00:00

m
0
e
=
AT

wi>TR S S</wf>

MO B

<tmn>0</tmn> IAM2E B
<tmx>8</tmx> N2 B0
<reliability> &2 S</reliability> A2IE B
<rnSt>30</rnSt> 2S5 B
</data>

<data> 102 02 B

<mode>A01</mode>

10e= MU

<tmEf>2013-12-02 00:00</tmEF>

yyyy-mm-dd 00:00 & A2

<w>FR SRS </wi>

SHUE EHD

<tmn>2</tmn>

ZM2E B0

<tmx>10</tmx>

Z D2 B2

<reliability> 2 E</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0
</data>
</location> <location> Element tag EJI

<location wl_ver="3">

<location> Element €|

SIN0E 2SI 2 XS EM Y HE S
<province>t& - ME - EF & E</province> NAYDE M2 XA (UE - NS - SHET)

<city> Ml E</city>

HERAICH OE NAH(HE)

<data>

222 02 32

<mode>A02</mode>

22 QHUE

<tmEf>2013-11-24 00:00</tmEf>

yyyy—-mm-dd 00:00 H& 2 A&

w>RE RS/ w>

MO B

<tmn>2</tmn>

ZMe2E B

<tmx>11</tmx>

Zo2&E B0

<reliability>=2 E</reliability>

Al2lE B

<rnSt>30</rSt> 285 B
</data>

<data> 22 = E B8
<mode>A02</mode> 295 2502

<tmEf>2013-11-24 12:00</tmEF>

yyyy-mm-dd 12:00 2 AlE

<wf>SelD HI</wf>

SHUE e

<tmn>2</tmn>

ZMeE B0

<tmx>11</tmx>

025 B0

<reliability> 2 E</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0
</data>

<data> 3¢s e HE
<mode>A02</mode> 328% QAU

<tmEf>2013-11-25 00:00</tmEf>

yyyy—-mm-dd 00:00 H& S A2

<wf>SelD HI</wi>

MO B

<tmn>3</tmn> ZMeE B
<tmx>7</tmx> 02 B
<reliability> &2 S</reliability> A2E B
<rnSt>30</rSt> 285 B
</data>

<data> 3= HE BE
<mode>A02</mode> 39% QSUE

<tmEf>2013-11-25 12:00</tmEF>

yyyy—-mm-dd 12:00 S A2

wi>REES</wi>

SHOE e

<tmn>3</tmn> IANSE B
<tmx>7</tmx> D& B
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> 255 B
</data>

<data> 492 02 32
<mode>A02</mode> 4195 QMU E
<tmEf>2013-11-26 00:00</tmEf> yyyy—-mm-dd 00:00 H& Y A2
wf>REUS/wH> SAUE B
<tmn>-1</tmn> ZMEE B
<tmx>6</tmx> XD2E B0
<reliability> &2 S</reliability> A2IE B2
<rnSt>30</rnSt> 285 B0
</data>

<data> 495 2 B
<mode>A02</mode> 4945 QS0 E

<tmEf>2013-11-26 12:00</tmEF>

yyyy—-mm-dd 12:00 @2 A2

<wi>HA S S</wf>

SHUE e




xml 2&

xml &9

s [}

<tmn>-1</tmn>

ZNM2E B0

<tmx>6</tmx> HI2% B2
<reliability>% S</reliability> A& B
<rnSt>30</rnSt> 255 B0
</data>

<data> 59% 0l HE
<mode>A02</mode> 545 QEUE

<tmEf>2013-11-27 00:00</tmEf>

yyyy—mm-dd 00:00 & A=

wf>TR S S</wf>

MO B

<tmn>-1</tmn>

FM2E B

<tmx>5</tmx> N2 B0
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> 2=
</data>

<data> 5% 02 HE
<mode>A02</mode> 59% QM

<tmEf>2013-11-27 12:00</tmEF>

yyyy-mm-dd 12:00 2 AlE

<wf>Seld E/HI</wi>

MO B

<tmn>-1</tmn>

ZM2E B0

<tmx>5</tmx> HI2% B
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 255 B
</data>

<data> 6% 02 HE
<mode>A02</mode> 6LS QEUE

<tmEf>2013-11-28 00:00</tmEf>

yyyy—-mm-dd 00:00 H& & A2

<wi>R SR =/HI</wh>

MO B

<tmn>-2</tmn>

ZMe2E B

<tmx>5</tmx> 02 B
<reliability> &2 S</reliability> A2IE B
<rnSt>30</rnSt> 2S5 B
</data>

<data> 6= OlE HE
<mode>A02</mode> 6% LSFWE

<tmEf>2013-11-28 12:00</tmEF>

yyyy-mm-dd 12:00 H& 2 A2

<wf>PE% D =/HI</wf>

SHUE EHD

<tmn>-2</tmn>

ZM2E B0

<tmx>5</tmx> NS B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 794% 0 HE
<mode>A02</mode> 745 QEUE

<tmEf>2013-11-29 00:00</tmEf>

yyyy—-mm-dd 00:00 S A2

<wi>TR SR =/HI</wh>

MO B

<tmn>-4</tmn>

ZMe2E B

<tmx>5</tmx> 02 B
<reliability> &2 S</reliability> A2IE B
<rnSt>30</rSt> 285 B
</data>

<data> 722 HE B
<mode>A02</mode> 795 SME

<tmEf>2013-11-29 12:00</tmEF>

yyyy—-mm-dd 12:00 S A2

<wi>FRERE</w>

SHUE e

<tmn>-4</tmn>

ZMeE B0

<tmx>5</tmx> ZD2E B2
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 8% G2 HE

<mode>A01</mode>

<tmEf>2013-11-30 00:00</tmEf>

yyyy—-mm-dd 00:00 H& S A2

wf>REUSI/wH> A0S BN
<tmn>-2</tmn> ZMeE B
<tmx>7</tmx> 02 B
<reliability> &2 S</reliability> A2E B
<rnSt>30</rSt> 2EE B
</data>

<data>

<mode>A01</mode>

<tmEf>2013-12-01 00:00</tmEF>

yyyy—-mm-—dd 00:00 H& & A

M

<w>FRERS</w>

SHOE e

<tmn>0</tmn> IANSE B
<tmx>8</tmx> D2 B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 288 B0
</data>

<data> 1022 o2 82

<mode>A01</mode>

102= M0

<tmEf>2013-12-02 00:00</tmEf>

yyyy-mm-dd 00:00 & AlE

wf>REUS/wH> SAUE B
<tmn>1</tmn> ZMEE B
<tmx>9</tmx> XD2E B0

<reliability> &2 S</reliability> A2IE B2
<rnSt>30</rnSt> 285 B0

</data>

</location> <location> Element tag EJ|

<location wl_ver="3">

<location> Element 2|
SON0E PEICH OE NS <

M

=1}

]

>

pS)
=]

=]
e




xml 2&

xml &9

s [}

<province>#™ et = E</province>

<city>#® =</city>

ANADC OHE NAH(Met=SE
HEFADC0 OHE XAH(MF

<data> 295 o2 HE
<mode>A02</mode> 245 QEU L
<tmEf>2013-11-24 00:00</tmEf> yyyy—-mm-—dd 00:00 2 A2
<wi>FHE R S</w> SHOME EHD

<tmn>5</tmn> ZAM2E B0

<tmx>13</tmx> D% B

<reliability> &2 S</reliability> A& B

<rnSt>30</rnSt> 255 B0
</data>

<data> 29% ol HE
<mode>A02</mode> 293 250 L

<tmEf>2013-11-24 12:00</tmER>

yyyy-mm-dd 12:00 2 AlE

<wf>Sel1 Hi</wi>

=L 01|E B

<tmn>5</tmn> ANMEE e
<tmx>13</tmx> J.T’. E EH
<reliability>s= S</reliability> 2% B2

<rnSt>30</rSt> ’**SJE EH

</data>

<data> 3= o=

<mode>A02</mode> 3e& @ JOﬂE
<tmEf>2013-11-25 00:00</tmEf> yyyy-mm-dd 00:00 H& A2
<wf>S2l 1 HI</w> SMUE B

<tmn>5</tmn> M B
<tmx>9</tmx> NS B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 32& ol HE
<mode>A02</mode> 34E 20 E

<tmEf>2013-11-25 12:00</tmEf>

yyyy—mm-dd 12:00 2 AlE

w>RE RS/ w>

SN0 B

<tmn>5</tmn> ZMes B
<tmx>9</tmx> 02 B
<reliability>% S</reliability> A2 & B
<rnSt>30</rnSt> 2S5 B
</data>

<data> S e d L
<mode>A02</mode> 4°'° LEUEE

<tmEf>2013-11-26 00:00</tmEF>

yyyy—-mm-dd 00:00 H2 AlE

<w>FR SRS </wi>

SHUE e

<tmn>2</tmn> M2 B
<tmx>8</tmx> NS B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 42 '$ oe 38
<mode>A02</mode> g= 25U
<tmEf>2013-11-26 12:00</tmEF> yyyy—-mm-dd 12:00 2 A2
wf>REUSI/wH> A0S B
<tmn>2</tmn> ZMeE B
<tmx>8</tmx> 02 B
<reliability> &2 S</reliability> A2 T B
<rnSt>30</rSt> 285 B
</data>

<data> 5% 02 HE
<mode>A02</mode> 525 QEUE

<tmEf>2013-11-27 00:00</tmEF>

yyyy—-mm-dd 00:00 HE & AlIZ

<wi>FRERE</w>

SHUE e

<tmn>1</tmn>

ZNMeE B0

<tmx>8</tmx> ZD2E B
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> 288 B0
</data>

<data> 5% 02 HE
<mode>A02</mode> 52% 2HE

<tmEf>2013-11-27 12:00</tmEf>

yyyy—mm-dd 12:00 & Al=

<wf>&elD Hl/E</wf>

E‘M\OHE B

<tmn>1</tmn> ZM2E B
<tmx>8</tmx> A_ID%E EH
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 2EE B
</data>

<data> 6% 02 HE
<mode>A02</mode> 645 QEUELE

<tmEf>2013-11-28 00:00</tmEF>

yyyy—mm-—dd 00:00 S A2

<wh>FREED =/HI</wh>

SHOE e

<tmn>-1</tmn>

FM2E B

<tmx>6</tmx> D& B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 2488 B0
</data>

<data> 6% 02 H2
<mode>A02</mode> 62 2502

<tmEf>2013-11-28 12:00</tmEf>

yyyy—-mm-dd 12:00 2 A2

<Ww>REED =/HI</wh>

SMOUE B

<tmn>-1</tmn>

M2 B

<tmx>6</tmx>

FDN2E B




xml 2&

xml &9

s [}

<reliability>2 S</reliability>

<rnSt>30</rnSt> 255 B
</data>

<data> 79% e HE
<mode>A02</mode> 745 QEUE

<tmEf>2013-11-29 00:00</tmEf>

yyyy—mm-dd 00:00 & A=

<wi>R SR =/HI</wh>

MO B

<tmn>-2</tmn>

FM2E B

<tmx>6</tmx> N2 B0
<reliability>2 S</reliability> A2IE B
<rnSt>30</rnSt> P mat—=
</data>

<data> 72 02 32
<mode>A02</mode> 79% EME
<tmEf>2013-11-29 12:00</tmEf> yyyy-mm-dd 12:00 H& A2
wf>REUS/wH> SMOE B
<tmn>-2</tmn> ANSE B
<tmx>6</tmx> HI25 B2
<reliability>% S</reliability> A& B
<rnSt>30</rnSt> 285 B0
</data>

<data> 82 & ol HE

<mode>A01</mode>

8Y% M0

<tmEf>2013-11-30 00:00</tmEf>

yyyy—-mm-dd 00:00 S A2

wi>RE RS/ w>

MO B

<tmn>-1</tmn>

ZMe2E B

<tmx>8</tmx> 02 B
<reliability> &2 S</reliability> A2IE B
<rnSt>30</rnSt> 2S5 B
</data>

<data> 9¢d S ol EE

<mode>A01</mode>

<tmEf>2013-12-01 00:00</tmEF>

yyyy-mm-dd 00:00 & A2

<w>FR SRS </wi>

SHUE EHD

<tmn>1</tmn>

ZM2E B0

<tmx>9</tmx> IDS2% B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 102% 02 3

<mode>A01</mode>

102% Mo

<tmEf>2013-12-02 00:00</tmEf>

yyyy—-mm-dd 00:00 S A2

wi>RE RS/ w>

SN0 B

<tmn>2</tmn> FAMSE B0
<tmx>9</tmx> 02 B

<reliability>= S</reliability> AZE B0
<rnSt>30</rSt> 285 B

</data>

</location> <location> Element tag & 7|

<location wl_ver="3">

<location> Element |

SO0E PHICH TOE XA M S HNE L

<province>#™et= &E</province>

XNADCO ME NAH(ZF - Metgds)

<city>2 &< /city>

HERAICH OE NAH (24

<data>

2e= 02 3%

<mode>A02</mode>

29 % QEUE

<tmEf>2013-11-24 00:00</tmEF>

yyyy-mm-dd 00:00 HE & Al=

<w>RERE</w>

SHUE e

<tmn>5</tmn>

ZNMeE B0

<tmx>12</tmx>

025 B0

<reliability>% S</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0
</data>

<data> 293 02 HE
<mode>A02</mode> 29 % 20

<tmEf>2013-11-24 12:00</tmEf>

yyyy—-mm-dd 12:00 2 A2

<wf>SelD HI</wi>

MO B

<tmn>5</tmn>

ZM2E B

<tmx>12</tmx>

02 B0

<reliability>%= S</reliability>

Al2lE B

<rnSt>30</rnSt> S5 B0
</data>

<data> 3= HE BE
<mode>A02</mode> 3¢S QEUELE

<tmEf>2013-11-25 00:00</tmEF>

yyyy—mm-—dd 00:00 2 A2

<wf>5eld Hi</wf>

SHOE e

<tmn>5</tmn> IANSE B
<tmx>9</tmx> D2 B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 288 B0
</data>

<data> 3¢ e 32
<mode>A02</mode> 32= 2502
<tmEf>2013-11-25 12:00</tmEF> yyyy-mm-dd 12:00 H2 A2
wf>REUS/wH> SAUE B
<tmn>5</tmn> ZHM2E B2
<tmx>9</tmx> XDN2E B0
<reliability>% Z</reliability> A& B
<rnSt>30</rnSt> 285 B0

</data>
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<data> 494% 02 B2
<mode>A02</mode> 425 QEUE
<tmEf>2013-11-26 00:00</tmEf> yyyy-mm-dd 00:00 H& Y A2
wf>PEUS/wH> SMOE B
<tmn>3</tmn> ANSE B
<tmx>8</tmx> HI2% B2
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 225 B
</data>

<data> 495 02 BS
<mode>A02</mode> 4945 @50

<tmEf>2013-11-26 12:00</tmEf>

yyyy—mm-dd 12:00 2 AlE

wi>TR S S</wf>

SN0 B

<tmn>3</tmn> AM2E B
<tmx>8</tmx> D2 B0
<reliability>2 S</reliability> A2IE B
<rnSt>30</rnSt> Pt =
</data>

<data> 545 o2 2
<mode>A02</mode> 59% QEUE
<tmEf>2013-11-27 00:00</tmEf> yyyy—-mm-dd 00:00 HE & A2
wf>REUS</wH> SMOE B2
<tmn>2</tmn> ANSE B
<tmx>7</tmx> NS B
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 5% 02 HSE
<mode>A02</mode> 525 2SUE

<tmEf>2013-11-27 12:00</tmEf>

yyyy—mm-dd 12:00 2 AlE

<wh>S2l 1 Hl/E</wh>

SN0 B

<tmn>2</tmn> FAMHSE B0
<tmx>7</tmx> 02 B2
<reliability> &2 S</reliability> A2IE B
<rnSt>30</rnSt> 2S5 B
</data>

<data> 6= OlE HE
<mode>A02</mode> 6% QEUEE

<tmEf>2013-11-28 00:00</tmEF>

yyyy-mm-dd 00:00 & A&

<wf>PE% D =/HI</w>

SHUE EHD

<tmn>1</tmn>

ZM2E B0

<tmx>6</tmx> IDS2% B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 6= 02 38
<mode>A02</mode> 4% 20 E

<tmEf>2013-11-28 12:00</tmEf>

yyyy—mm-dd 12:00 & Al=

<wi>R SR =/HI</wh>

MO B

<tmn>1</tmn>

ZM2E B

<tmx>6</tmx> 02 B
<reliability> &2 S</reliability> A2IE B
<rnSt>30</rSt> 285 B
</data>

<data> 722 HE B
<mode>A02</mode> 795 QEUE

<tmEf>2013-11-29 00:00</tmEF>

yyyy—-mm-dd 00:00 2 & A2

<wf>PRE %D =/HI</wf>

SHUE e

<tmn>-1</tmn>

ZMeE B0

<tmx>5</tmx> ZO2E B
<reliability>= E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 7945 e HE
<mode>A02</mode> 74E 0L
<tmEf>2013-11-29 12:00</tmEF> yyyy—-mm-dd 12:00 2 A2
wf>REUSI/wH> A0S B
<tmn>-1</tmn> ZMeE B
<tmx>5</tmx> 02 B
<reliability>% S</reliability> A& B
<rnSt>30</rnSt> S5 B0
</data>

<data> 8= E BE

<mode>A01</mode>

8Y= Felol2

<tmEf>2013-11-30 00:00</tmEF>

yyyy—mm-—dd 00:00 2 A2

<wh>FRE RS </w>

SHOE e

<tmn>0</tmn> IANSE B
<tmx>7</tmx> D2 B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 288 B0
</data>

<data> 92 = o2 HE
<mode>A01</mode> 92 s MU

<tmEf>2013-12-01 00:00</tmEf>

yyyy-mm-dd 00:00 & Al=

wf>REUS/wH> SAUE B
<tmn>2</tmn> ZHM2E B
<tmx>8</tmx> XD2E B0

<reliability> 2 E</reliability>

A2E B

<rnSt>30</rnSt>

24T 61
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</data>

<data>

102= o2 8¢

<mode>A01</mode>

1082 Jeo=

<tmEf>2013-12-02 00:00</tmEf>

yyyy—mm-—dd 00:00 & A=

wi>TR S S</wf>

MO B

<tmn>3</tmn> AM2E B
<tmx>8</tmx> ZO2% B3

<reliability>2 S</reliability> A2IE B
<rnSt>30</rnSt> 228 B

</data>

</location> <location> Element tag EJI

<location wl_ver="3">

<location> Element ZJ|
SI0E PHICH OHE XH UM 2 HE 32

<province>& = - HMetdtE</province>

NHIC0 OGE NAS (2= - MetdE)

<city>& =</city>

HEFADC OGHE XAH (2F)

<data> 295 o2 HE
<mode>A02</mode> 245 QEU L
<tmEf>2013-11-24 00:00</tmEf> yyyy—-mm-dd 00:00 S A2
wf>PEUS</wH> SMOE B2

<tmn>5</tmn> ANSE B

<tmx>14</tmx>

D% e

<reliability>2 S</reliability>

Al2IE BT

<rnSt>30</rnSt> 255 B0
</data>

<data> 29% 02 3
<mode>A02</mode> 29 % 20

<tmEf>2013-11-24 12:00</tmEF>

2l

yyyy-mm-dd 12:00 H& < Al

<wf>Sel1 HI</wi>

SN0 B

<tmn>5</tmn>

ZMe2E B

<tmx>14</tmx>

Z02E B0

<reliability> = S</reliability>

AlZlE B

<rnSt>30</rnSt> 2S5 B
</data>

<data> 3¢S ol 32
<mode>A02</mode> 32% QEUE

<tmEf>2013-11-25 00:00</tmEF>

yyyy-mm-dd 00:00 &

10
e
>
2l

<wf>S & </wf>

SHUE EHD

<tmn>6</tmn>

ZM2E B0

<tmx>10</tmx>

Z D2 B2

<reliability>% S</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0
</data>

<data> 3YS o2 ¥
<mode>A02</mode> 3% 25U

<tmEf>2013-11-25 12:00</tmEf>

yyyy—mm-dd 12:00 2 AlE

w>RE RS/ w>

SN0 B

<tmn>6</tmn>

ZM2E B

<tmx>10</tmx>

02 B0

<reliability>% S</reliability>

Al2lE B

<rnSt>30</rSt> 285 B
</data>

<data> 425 2 EE
<mode>A02</mode> 4945 QEME

<tmEf>2013-11-26 00:00</tmEF>

yyyy—-mm-dd 00:00 2 & A2

<w>FRERE</w>

SHUE e

<tmn>4</tmn> ZM2E B
<tmx>9</tmx> ZD2E B
<reliability>= E</reliability> A2IE B
<rnSt>30</rnSt> 288 B0
</data>

<data> 4945 08 3
<mode>A02</mode> 495 FUE
<tmEf>2013-11-26 12:00</tmEF> yyyy—-mm-dd 12:00 2 A2
wf>REUSI/wH> A0S B
<tmn>4</tmn> ZMeE B
<tmx>9</tmx> 02 B
<reliability>=2 E</reliability> A2E B
<rnSt>30</rSt> 285 B
</data>

<data> 52= E 3L
<mode>A02</mode> 545 QAU

<tmEf>2013-11-27 00:00</tmEF>

yyyy—mm-—dd 00:00 S A2

<w>FRE RS </w>

SHOE e

<tmn>3</tmn> IANSE B
<tmx>9</tmx> D2 B
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> 288 B0
</data>

<data> 5% e HE
<mode>A02</mode> 52% 23U

<tmEf>2013-11-27 12:00</tmEf>

m
110
o
>
AL

yyyy—mm-dd 12:00

<wi>R SR E</wi>

SMOUE B

<tmn>3</tmn> ZMEE B
<tmx>9</tmx> XD2E B0
<reliability>% S</reliability> A& B
<rnSt>30</rnSt> 255 B0
</data>

<data> 62= E B
<mode>A02</mode> 64S 2EUE




xml 2&

xml &9
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<tmEf>2013-11-28 00:00</tmEF>

yyyy-mm-dd 00:00 HZ & AlE

<wi>FR SR =/HI</wh>

MO B

<tmn>0</tmn> ANSE B
<tmx>6</tmx> HI25 B2
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 255 B0
</data>

<data> 6% 0l HE
<mode>A02</mode> 625 2LSUE

<tmEf>2013-11-28 12:00</tmEf>

yyyy—mm-dd 12:00 H2 & AlE

<wi>TR S0 =/HI</wh>

MO B

<tmn>0</tmn> AM2E B
<tmx>6</tmx> N2 B0
<reliability>2 S</reliability> A2IE B
<rnSt>30</rnSt> P mat—=
</data>

<data> 745 02 32
<mode>A02</mode> 79% QEUE

<tmEf>2013-11-29 00:00</tmEF>

yyyy-mm-dd 00:00 HZ AlE

<wi>FR SR =/HI</wh>

MO BT

<tmn>-1</tmn>

ZNM2E B0

<tmx>5</tmx> HI2% B2
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 285 B0
</data>

<data> 725 02 38
<mode>A02</mode> 79% 2SME

<tmEf>2013-11-29 12:00</tmEf>

yyyy—mm-dd 12:00 2 AlE

w>RE RS/ w>

SN0 B

<tmn>-1</tmn>

ZMe2E B

<tmx>5</tmx> 02 B
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> 2S5 B
</data>

<data> 8= o2 HE

<mode>A01</mode>

<tmEf>2013-11-30 00:00</tmEF>

yyyy-mm-dd 00:00 & A2

<w>FR SRS </wi>

SHUE e

<tmn>-1</tmn>

ZM2E B0

<tmx>8</tmx> NS B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 92& ol HE
<mode>A01</mode> 92 MU

<tmEf>2013-12-01 00:00</tmEf>

yyyy—mm-—dd 00:00 & AlE

wf>REUSI/wH> A0S B
<tmn>2</tmn> ZMeE B

<tmx>10</tmx>

02 B0

<reliability>=2 E</reliability>

Al2lE B

<rnSt>30</rSt> 285 B
</data>
<data> 102€= 02 32

<mode>A01</mode>

o 100

10e= HLUE

<tmEf>2013-12-02 00:00</tmEF>

yyyy—-mm-dd 00:00 HE & A2

<w>FRERE</w>

SHUE e

<tmn>2</tmn>

ZNMeE B0

<tmx>10</tmx>

025 B0

<reliability> 2 E</reliability>

Al2IE B

<rnSt>30</rnSt> 288 B0
</data>
</location> <location> Element tag &J|

<location wl_ver="3">

<location> Element & |

<province>&= - Metet&</province>

SO0 RIS HE NS SN L H
ANSEIEH G2 NAH(ZF - Metds)

<city>S E</city>

HEPAICH OGE NAH(SH)

<data> 293 02 HE
<mode>A02</mode> 2285 QMU
<tmEf>2013-11-24 00:00</tmEf> yyyy-mm-dd 00:00 & Al=
wf>REUS/wH> SAUE B

<tmn>6</tmn> ZM2E B

<tmx>15</tmx>

FD2E B

<reliability>=2 E</reliability>

Al2lE BT

<rnSt>30</rnSt> S5 B0
</data>

<data> 22 2 3L
<mode>A02</mode> 29 % QS

<tmEf>2013-11-24 12:00</tmEF>

yyyy-mm-dd 12:00 S22 A2

<wf>5eld Hi</wf>

SHOE e

<tmn>6</tmn>

FM2E B

<tmx>15</tmx>

Zo2E B0

<reliability>= S</reliability> A2IE B
<rnSt>30</rnSt> 225 B0
</data>

<data> 3¢S ol 38
<mode>A02</mode> 34E QEUE

<tmEf>2013-11-25 00:00</tmEf>

yyyy-mm-dd 00:00 & Al=

<wi>S </ w>

SMOUE BT

<tmn>7</tmn>

M2 B
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<tmx>10</tmx>

<reliability>% S</reliability>

<rnSt>30</rnSt> 228 e

</data>

<data> 3g= ol 32
<mode>A02</mode> 32% FME
<tmEf>2013-11-25 12:00</tmEf> yyyy-mm-dd 12:00 H2 A2
<wi>FR SR E</wi> SHOUE EHD

<tmn>7</tmn> ANSE B

<tmx>10</tmx>

D% e

<reliability>% S</reliability>

Al2IE B

<rnSt>30</rnSt> 285 B0
</data>

<data> 495 02 BS
<mode>A02</mode> 4945 QENE

<tmEf>2013-11-26 00:00</tmEf>

yyyy—mm-dd 00:00

EEENE

wi>TR S S</wf>

=L 01|E B

<tmn>5</tmn> ANMEE B
<tmx>10</tmx> Z02 E EH
<reliability>% S</reliability> AZ2E B3

<rnSt>30</rSt> P mat—=
</data>

<data> 425 02 3
<mode>A02</mode> 42945 QE0UE

<tmEf>2013-11-26 12:00</tmER>

yyyy—mm-dd 12:00

HEBY AE

<wi>FR SR E</wi>

SHUE EHD

<tmn>5</tmn>

ZM2E B0

<tmx>10</tmx>

Z D2 B2

<reliability> 2 E</reliability> A2IC B
<rnSt>30</rnSt> 2+2E B
</data>

<data> 52% 02 HE
<mode>A02</mode> 525 QEUE
<tmEf>2013-11-27 00:00</tmEF> yyyy—-mm-dd 00:00 S A2
wi>RE RS/ w> SMOE EHD
<tmn>4</tmn> Al I{SE Ei
<tmx>10</tmx> 02 B
<reliability>'% S</reliability> /\IE\C EH
<rnSt>30</rnSt> 2S5 B
</data>

<data> 545 o2 2
<mode>A02</mode> 52% QW

<tmEf>2013-11-27 12:00</tmEF>

yyyy—mm-dd 12:00

HEBY AE

<w>FR SR E</wi> SHOE EHD
<tmn>4</tmn> ANSE B
<tmx>10</tmx> ZOD2E B
<reliability>% S</reliability> AT B
<rnSt>30</rnSt> 242E B
</data>

<data> 625 02 HE
<mode>A02</mode> 625 QEUE
<tmEf>2013-11-28 00:00</tmEF> yyyy—-mm-dd 00:00 H& Y A2
<w>RE D =/HI</wh> M 01|E EH
<tmn>2</tmn> ZM2% B
<tmx>6</tmx> A_ID_SE EH
<reliability> &2 S</reliability> A2 T B
<rnSt>30</rSt> 285 B
</data>

<data> 6= 02 32
<mode>A02</mode> 625 SUE

<tmEf>2013-11-28 12:00</tmEF>

yyyy-mm-dd 12:00

S A=

<wf>PRE %D =/HI</wf> SMOE B

<tmn>2</tmn> NS B

<tmx>6</tmx> ZD2E B

<reliability>= E</reliability> A2IE B

<rnSt>30</rnSt> 288 B0

</data>

<data> 7945 0 HE
<mode>A02</mode> 74 QEUE
<tmEf>2013-11-29 00:00</tmEf> yyyy—-mm-dd 00:00 H& A2
<wf>RE %D =/HI</w> SAUE B

<tmn>1</tmn>

ZM2E B0

<tmx>5</tmx> XD2E B0
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 285 B0
</data>

<data> 722 HE B
<mode>A02</mode> 794% SME

<tmEf>2013-11-29 12:00</tmEF>

yyyy-mm-dd 12:00

<w>FRE RS </w>

SHOE e

<tmn>1</tmn>

EIHEE B

<tmx>5</tmx> ZO2% B3
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</data>
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<tmn>1</tmn>

ZNM2E B0

<tmx>8</tmx> HI2% B2
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 285 B0
</data>

<data> 92s o2 ¥

<mode>A01</mode>

<tmEf>2013-12-01 00:00</tmEf>

yyyy—mm-dd 00:00 & A=

wf>TR S S</wf>

MO B

<tmn>3</tmn>

FM2E B

<tmx>10</tmx>

Zo2E B0

<reliability>% S</reliability>

AlZlE B

<rnSt>30</rSt> 2=
</data>
<data> 102= 02 82

<mode>A01</mode>

102E Moo

<tmEf>2013-12-02 00:00</tmEF>

yyyy—-mm-dd 00:00 HE AlE

<wi>TA S S</wf> SHOUE BT
<tmn>3</tmn> M2 B

<tmx>10</tmx>

D% e

<reliability>2 S</reliability>

Al2IE B

<rnSt>30</rnSt> 255 B
</data>
</location> <location> Element tag EJI

<location wl_ver="3">

<location> Element € 2|
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<city>0f %=</city>
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<data>

222 02 32

<mode>A02</mode>

22 QHUEE

<tmEf>2013-11-24 00:00</tmEf>

yyyy—-mm-dd 00:00 H& A&

wi>RE RS/ w>

MO B

<tmn>6</tmn>

ZMe2E B

<tmx>15</tmx>

Z02&E B0

<reliability> & S</reliability>

AlZlE B

<rnSt>30</rnSt> 2S5 B
</data>

<data> 295 o2 HE
<mode>A02</mode> 295 QS0

<tmEf>2013-11-24 12:00</tmEF>

yyyy—mm-dd 12:00 2 AlE

<wf>SelD HI</wf>

SHUE EHD

<tmn>6</tmn>

ZM2E B0

<tmx>15</tmx>

Z D2 B2

<reliability>= S</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0
</data>

<data> 3¢S o 32
<mode>A02</mode> 3% QAU

<tmEf>2013-11-25 00:00</tmEf>

yyyy—-mm-dd 00:00 H& S A2

<wi>S </wh>

MO B

<tmn>7</tmn>

ZM2E B

<tmx>11</tmx>

02 B0

<reliability>% S</reliability>

Al2lE B

<rnSt>30</rSt> 285 B
</data>

<data> 3= HE BE
<mode>A02</mode> 32% FUE

<tmEf>2013-11-25 12:00</tmER>

yyyy—-mm-dd 12:00 S AlIZ

<wi>FRERE</w>

SHUE e

<tmn>7</tmn>

ZNMeE B0

<tmx>11</tmx>

025 B0

<reliability>% S</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0

</data>

<data> 4945 08 3
<mode>A02</mode> 4945 QEUE
<tmEf>2013-11-26 00:00</tmEF> yyyy—-mm-dd 00:00 H& S A2
wf>REUSI/wH> A0S B

<tmn>6</tmn> ZMeE B

<tmx>12</tmx>

FD2E B
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Al2lE B0

<rnSt>30</rnSt> S5 B0
</data>

<data> 495 2 B
<mode>A02</mode> 4945 QS0

<tmEf>2013-11-26 12:00</tmEF>

yyyy—-mm-dd 12:00 2 A2

<w>FRE RS </w>

SHOE e

<tmn>6</tmn>

FM2E B

<tmx>12</tmx>

Zo2E B0

<reliability> 2 E</reliability>

Al2IE B

<rnSt>30</rnSt> 288 B0

</data>

<data> 5% 02 HE
<mode>A02</mode> 52% 2HMUHE
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<rnSt>30</rSt> P mat—2=
</data>
<data> 545 o2 2
<mode>A02</mode> 545 2E0E
<tmEf>2013-11-27 12:00</tmEf> yyyy-mm-dd 12:00 H2 A2
wf>PEUS</wH> SMOE B2
<tmn>5</tmn> ZAM2E B0

<tmx>11</tmx>

D% e

<reliability>% S</reliability>

Al2lE B

<rnSt>30</rnSt> 255 B0
</data>

<data> 6% 0l HE
<mode>A02</mode> 64% QEUE

<tmEf>2013-11-28 00:00</tmEf>

yyyy—mm-dd 00:00 & A=

<wi>R SR =/HI</wh>

MO B

<tmn>3</tmn> IAM2E B

<tmx>7</tmx> N2 B0

<reliability>2 S</reliability> A2IE B

<rnSt>30</rnSt> P mat—=

</data>

<data> 6% 02 HE
<mode>A02</mode> 6% FME
<tmEf>2013-11-28 12:00</tmEf> yyyy-mm-dd 12:00 H& A2
<wi>FEE D =/HI</wh> SMOIE BT

<tmn>3</tmn> M B
<tmx>7</tmx> NS B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 794% 0l HE
<mode>A02</mode> 745 QEUE

<tmEf>2013-11-29 00:00</tmEf>

yyyy—-mm-dd 00:00 S A2

<wi>R S =/HI</wh>

SN0 B

<tmn>3</tmn> ZMes B
<tmx>6</tmx> 02 B
<reliability> &2 S</reliability> A2IE B
<rnSt>30</rnSt> 2S5 B
</data>

<data> 745 02 32
<mode>A02</mode> 79% EWE

<tmEf>2013-11-29 12:00</tmEF>

yyyy-mm-dd 12:00 H& A2

<w>FR SRS </wi>

SHUE e

<tmn>3</tmn> M2 B
<tmx>6</tmx> NS B
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 8% G2 HSE
<mode>A01</mode> 8% MM

<tmEf>2013-11-30 00:00</tmEf>

yyyy—-mm-dd 00:00 H& S A2

wf>REUSI/wH> A0S B
<tmn>3</tmn> ZMeE B
<tmx>9</tmx> 02 B
<reliability> &2 S</reliability> A2E B
<rnSt>30</rSt> 285 B
</data>

<data> 9e= e BE
<mode>A01</mode> 929 MUUE

<tmEf>2013-12-01 00:00</tmEF>
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<wi>FRERE</w>
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<tmn>4</tmn>
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</data>
<data> 1
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<tmEf>2013-12-02 00:00</tmEf>
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wf>REUSI/wH> A0S B
<tmn>4</tmn> ZM2E B

<tmx>11</tmx>

FD2E B

<reliability>=2 E</reliability>

Al2lE BT

<rnSt>30</rnSt> 285 B0
</data>
</location> <location> Element tag & 7|
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<province>tH= - B& S E</province>
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<data> 22 2 3L
<mode>A02</mode> 24% QEUE

<tmEf>2013-11-24 00:00</tmEF>

yyyy—-mm-dd 00:00 HE 2 A2
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</data>
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<mode>A02</mode>

295 2502

<tmEf>2013-11-24 12:00</tmER>

yyyy-mm-dd 12:00 S A2

<wf>Sel1 Hi</wi>

=L 01|E B

<tmn>5</tmn> NS B
<tmx>14</tmx> Z02 E EH
<reliability>2 S</reliability> AZ2E B3

<rnSt>30</rnSt> 2z B0
</data>

<data> EEE
<mode>A02</mode> 3e& @ JOﬂE

<tmEf>2013-11-25 00:00</tmEF>

yyyy-mm-dd 00:00 H& Al
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<wf>Seld Hi</wf>

MO B

<tmn>9</tmn>

ZM2E B0

<tmx>11</tmx>

D% e

<reliability>2 S</reliability>

Al2IE BT

<rnSt>30</rnSt> 225 B
</data>

<data> 3YUS o2 ¥
<mode>A02</mode> 32% 25U

<tmEf>2013-11-25 12:00</tmEf>

yyyy—mm-dd 12:00 2 AlE

wi>TR S S</wf>

MO B

<tmn>9</tmn>

FM2E B

<tmx>11</tmx>

Z02% B

<reliability>= S</reliability>

A2 & B0

<rnSt>30</rnSt> 24+EE B0
</data>

<data> 49% 02 B2
<mode>A02</mode> 4945 QEME
<tmEf>2013-11-26 00:00</tmEf> yyyy-mm-dd 00:00 & A2
wf>PREZ3</wH> SMUE B
<tmn>3</tmn> M2 B
<tmx>9</tmx> NS B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 4945 08 3
<mode>A02</mode> 4295 QSN E
<tmEf>2013-11-26 12:00</tmEf> yyyy—-mm-dd 12:00 @2 A2
wi>RE X ZL/w> A0S B
<tmn>3</tmn> ZMes B
<tmx>9</tmx> 02 B
<reliability> &2 S</reliability> A2 & B
<rnSt>30</rnSt> 2S5 B
</data>

<data> 5% 02 HE
<mode>A02</mode> 52% QEUE

<tmEf>2013-11-27 00:00</tmEF>

yyyy—-mm-dd 00:00 2 & AlZ

<wi>FRERE</w>

SHUE e

<tmn>3</tmn>

ZNMeE B0

<tmx>9</tmx> ZD2E B
<reliability>% S</reliability> A2IE B2
<rnSt>30</rnSt> 285 B0
</data>

<data> 5% 02 32
<mode>A02</mode> 52% 2HE
<tmEf>2013-11-27 12:00</tmEF> yyyy—-mm-dd 12:00 2 A2
wf>REUSI/wH> A0S B
<tmn>3</tmn> ZMeE B
<tmx>9</tmx> 02 B2
<reliability>% S</reliability> A2 T B
<rnSt>30</rSt> 2EE B
</data>

<data> 6% 02 HE
<mode>A02</mode> 6% QEUE

<tmEf>2013-11-28 00:00</tmEF>

yyyy—-mm-dd 00:00 2 & AlZ

<w>RERE</w>

SHUE e

<tmn>1</tmn>

ZNMeE B0

<tmx>7</tmx> ZO2E B
<reliability>% S</reliability> A2 B
<rnSt>30</rnSt> 2488 B0
</data>

<data> 6% 02 H2
<mode>A02</mode> 6% 22U
<tmEf>2013-11-28 12:00</tmEf> yyyy-mm-dd 12:00 H2 A2
wf>REUS/wH> SAUE B
<tmn>1</tmn> ZMEE B
<tmx>7</tmx> XD2E B0
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> S5 B0
</data>

<data> 7% 02 HE
<mode>A02</mode> 745 QEME
<tmEf>2013-11-29 00:00</tmEf> yyyy—mm-—dd 00:00 2 A2
wf>PREZS</wH> SMUE B
<tmn>-1</tmn> IANSE B
<tmx>7</tmx> Z02E B2
<reliability>2 E</reliability> A2IE B
<rnSt>30</rnSt> 288 B0

</data>
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<data> 745 02 32
<mode>A02</mode> 79% EME
<tmEf>2013-11-29 12:00</tmEf> yyyy-mm-dd 12:00 H2 A2
wf>REZ3</wH> SMOE B
<tmn>-1</tmn> ANSE B
<tmx>7</tmx> HI2% B2
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 225 B
</data>
<data> 8US o2 ¥

<mode>A01</mode>

<tmEf>2013-11-30 00:00</tmEf>

yyyy—mm-dd 00:00 & A=

wiH>REZEZL/w> SAOE B
<tmn>1</tmn> AM2E B
<tmx>8</tmx> D2 B0
<reliability>2 S</reliability> A2IE B
<rnSt>30</rnSt> Pt =
</data>

<data> 92 & o2 HE

<mode>A01</mode>

<tmEf>2013-12-01 00:00</tmEF>

yyyy—-mm-dd 00:00 HE AlE

<wi>FR SR E</wi> SO0 BN
<tmn>3</tmn> ZM2E B
<tmx>9</tmx> IDS2% B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 102% 02 3

<mode>A01</mode>

PEEPRE

<tmEf>2013-12-02 00:00</tmEf>

yyyy—-mm-dd 00:00 S A2

wi>RE RS/ w>

SN0 B

<tmn>4</tmn> ZMes B
<tmx>8</tmx> 02 B2

<reliability>= E</reliability> AZE B0
<rnSt>30</rnSt> 2S5 B

</data>

</location> <location> Element tag EJ|

<location wl_ver="3">

<location> Element &7
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<province>tH = - B&=E</province>

NADC MHE NAH(UHF - BASE

)

<city>9tsS</city>

HEAADC GHE XAH(OHS)

<data>

22 02 ¥

<mode>A02</mode>

29 % QEUE

<tmEf>2013-11-24 00:00</tmEF>

yyyy—-mm-dd 00:00 S A2

<w>FR SRS </wi>

SHUE EHD

<tmn>2</tmn>

ZM2E B0

<tmx>12</tmx>

2025 B0

<reliability> 2 E</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0
</data>

<data> 293 02 HE
<mode>A02</mode> 29 % 20

<tmEf>2013-11-24 12:00</tmEf>

yyyy—-mm-dd 12:00 2 A2

<wf>SelD HI</wi>

MO B

<tmn>2</tmn>

ZM2E B

<tmx>12</tmx>

02 B0

<reliability>=2 E</reliability>

Al2E B

<rnSt>30</rSt> 285 B
</data>

<data> 3= HE BE
<mode>A02</mode> 39% QEUE

<tmEf>2013-11-25 00:00</tmEF>

yyyy—-mm-dd 00:00 HE & AlIZ

<wf>SelD HI</wf>

SHUE e

<tmn>8</tmn>

ZNMeE B0

<tmx>10</tmx>

025 B0

<reliability> 2 E</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0

</data>

<data> 3¢ o HE
<mode>A02</mode> 32= 2302
<tmEf>2013-11-25 12:00</tmEF> yyyy-mm-dd 12:00 $2 A2
wf>REUS/wH> SAUE B

<tmn>8</tmn> ZMEE B

<tmx>10</tmx>

FD2E B

<reliability> % Z</reliability>

Al2lE BT

<rnSt>30</rnSt> 285 B0
</data>

<data> 495 2 B
<mode>A02</mode> 4945 QEME
<tmEf>2013-11-26 00:00</tmEf> yyyy—-mm-—dd 00:00 2 A2
wf>PREZS</wH> SMUE B
<tmn>0</tmn> IANSE B
<tmx>6</tmx> D2 B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 2488 B0
</data>

<data> 425 08 HE2
<mode>A02</mode> 495 Q52

<tmEf>2013-11-26 12:00</tmEf>

yyyy-mm-dd 12:00 &
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LwiH>REZEZL/w> SAOE B
<tmn>0</tmn> IAM2E B
<tmx>6</tmx> N2 B0
<reliability>2 S</reliability> A2IE B
<rnSt>30</rSt> 2=
</data>
<data> 5% 02 HE
<mode>A02</mode> 59% QEUE
<tmEf>2013-11-27 00:00</tmEf> yyyy—-mm-dd 00:00 H& Y A2
wf>REUS/wH> SAUE B
<tmn>-1</tmn> ANSE B
<tmx>6</tmx> HI2% B
<reliability>% S</reliability> A& B
<rnSt>30</rnSt> 255 B
</data>
<data> 59% 0l HE
<mode>A02</mode> 5% QS

<tmEf>2013-11-27 12:00</tmER>

yyyy—mm-dd 12:00 2 AlE

wi>TR S S</wf>

SN0 B

<tmn>-1</tmn>

FM2E B

<tmx>6</tmx> N2 B0
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> P mat—=
</data>

<data> 6% 02 HE
<mode>A02</mode> 6% QEUEE

<tmEf>2013-11-28 00:00</tmEF>

yyyy-mm-dd 00:00 & A2

<wi>FR SRS </wi>

SHUE EHD

<tmn>-3</tmn>

ZM2E B0

<tmx>5</tmx> NS B
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 6% 02 HE
<mode>A02</mode> 625 2LS0UE

<tmEf>2013-11-28 12:00</tmEf>

yyyy—mm-dd 12:00 2 AlE

w>R SRS </w>

SN0 B

<tmn>-3</tmn>

ZMe2E B

<tmx>5</tmx> 02 B
<reliability> &2 S</reliability> A2IE B
<rnSt>30</rnSt> 2S5 B
</data>

<data> 745 02 32
<mode>A02</mode> 79% QEUE
<tmEf>2013-11-29 00:00</tmEf> yyyy-mm-dd 00:00 & A2
wf>PREZS</wH> SMUE B
<tmn>-5</tmn> ZM2E B
<tmx>4</tmx> ZD2E B
<reliability>= E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 794 e HE
<mode>A02</mode> 74E 0L
<tmEf>2013-11-29 12:00</tmEF> yyyy—-mm-dd 12:00 2 A2
w>RE X ZL/wh> A0S B
<tmn>-5</tmn> ZMeE B
<tmx>4</tmx> 02 B
<reliability>=2 E</reliability> A2E B
<rnSt>30</rSt> 285 B
</data>

<data> 8= e BE

<mode>A01</mode>

<tmEf>2013-11-30 00:00</tmEF>

yyyy—-mm-dd 00:00 2 & A2

wf>PREZS</wH> SMOE B
<tmn>-4</tmn> ZM2E B
<tmx>6</tmx> ZO2E B
<reliability>= E</reliability> A2IE B
<rnSt>30</rnSt> 288 B0
</data>

<data> 9eds ol EE
<mode>A01</mode> 9g: MU

<tmEf>2013-12-01 00:00</tmEf>

yyyy-mm-dd 00:00 & Al=

wf>REUS/wH> SAUE B
<tmn>-2</tmn> ZMEE B
<tmx>7</tmx> XD2E B0
<reliability> &2 S</reliability> AZ2IE B2
<rnSt>30</rnSt> 285 B0
</data>

<data> 108= 02 8

<mode>A01</mode>

<tmEf>2013-12-02 00:00</tmEF>

yyyy—mm-—dd 00:00 S A2

<w>FRERS</w>

SHOE e

<tmn>0</tmn> IANSE B
<tmx>6</tmx> D& B

<reliability>= E</reliability> A2IE B
<rnSt>30</rnSt> 288 B0

</data>

</location> <location> Element tag 7|




xml 2&

xml &9

s [}

<location wl_ver="3">

<location> Element 2|
ZIN0E FHEICH OE NS M P HE S

<province>ti 7 - BAS &</province>

NARCSH OHE NAS (P - BESE)

<city>IE &t</city>

HEFADIC0 OHE XNAH(ES)

<data>

2¢ = 02 32

<mode>A02</mode>

29 QHUE

<tmEf>2013-11-24 00:00</tmEF>

yyyy—-mm-dd 00:00 & A

=

wi>TR S S</wf>

MO B

<tmn>5</tmn>

FMSE B

<tmx>15</tmx>

Zo2E B0

<reliability>% S</reliability>

AlZlE B

<rnSt>30</rSt> P at—=
</data>

<data> 295 Ol HE
<mode>A02</mode> 295 QS

<tmEf>2013-11-24 12:00</tmEF>

yyyy—mm-dd 12:00 2 A=

<wf>SelD HI</wi>

MO B

<tmn>5</tmn>

ZM2E B0

<tmx>15</tmx>

D% e

<reliability>2 S</reliability>

Al2IE B

<rnSt>30</rnSt> 225 B
</data>

<data> 32& ol HE
<mode>A02</mode> 3YSE QEUE

<tmEf>2013-11-25 00:00</tmEf>

yyyy—-mm-dd 00:00 H& & A2

<wf>Sel HI</wi>

SN0 B

<tmn>9</tmn>

ZMe2E B

<tmx>12</tmx>

Z02&E B0

<reliability> &2 S</reliability> A2IE B
<rnSt>30</rnSt> 2S5 B
</data>

<data> 3¢S ol 32
<mode>A02</mode> 32% FWE

<tmEf>2013-11-25 12:00</tmEF>

yyyy-mm-dd 12:00 H& 2 A2

<w>FR SR E</wi>

SHUE EHD

<tmn>9</tmn>

ZM2E B0

<tmx>12</tmx>

Z D2 B2

<reliability>=% S</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0
</data>

<data> 4945 08 3
<mode>A02</mode> 4945 QENE
<tmEf>2013-11-26 00:00</tmEf> yyyy—-mm-dd 00:00 H& S A2
wiH>RE X ZL/w> A0S B
<tmn>3</tmn> ZMes B
<tmx>9</tmx> 02 B2
<reliability>=2 E</reliability> A2IE B
<rnSt>30</rSt> 285 B
</data>

<data> 425 2 EE
<mode>A02</mode> 2SS 2F U E
<tmEf>2013-11-26 12:00</tmEf> yyyy—-mm-dd 12:00 G2 Al=
wf>PREZS</wH> SMOE B
<tmn>3</tmn> ZM2E B
<tmx>9</tmx> ZD2E B
<reliability>= E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 5% 02 32
<mode>A02</mode> 5% QAU
<tmEf>2013-11-27 00:00</tmEF> yyyy—-mm-dd 00:00 H& S A2
wf>REUSI/wH> A0S B
<tmn>3</tmn> ZMeE B
<tmx>9</tmx> 02 B
<reliability>% S</reliability> A2E B
<rnSt>30</rSt> 285 B
</data>

<data> 5= E BE
<mode>A02</mode> 525 QSHE

<tmEf>2013-11-27 12:00</tmEF>

yyyy—-mm-dd 12:00 S A2

wi>REES</wi>

SHOE e

<tmn>3</tmn> IANSE B
<tmx>9</tmx> D& B
<reliability>% S</reliability> A2IE B
<rnSt>30</rnSt> 255 B
</data>

<data> 6% 02 H2
<mode>A02</mode> 6% 2HUE
<tmEf>2013-11-28 00:00</tmEf> yyyy—-mm-dd 00:00 H& Y A2
wf>REUS/wH> SAUE B
<tmn>1</tmn> ZMEE B
<tmx>7</tmx> XD2E B0
<reliability> % Z</reliability> A2IE B2
<rnSt>30</rnSt> 285 B0
</data>

<data> 62= E B
<mode>A02</mode> 6% LSUE

<tmEf>2013-11-28 12:00</tmEF>

yyyy—-mm-dd 12:00 @2 A2

<wi>HA S S</wf>

SHUE e




xml 2E xml &% s [}
<tmn>1</tmn> ANSE B
<tmx>7</tmx> D% B
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 255 B0
</data>
<data> 725 02 ¥
<mode>A02</mode> 79E QEUE
<tmEf>2013-11-29 00:00</tmEf> yyyy—-mm-dd 00:00 S A2
wiH>REZEZL/w> SAOE B
<tmn>-1</tmn> AM2E B3
<tmx>7</tmx> N2 B0
<reliability>2 S</reliability> AZ2E B3
<rnSt>30</rnSt> 2z B0
</data>
<data> 72 02 HE
<mode>A02</mode> 79% EWE
<tmEf>2013-11-29 12:00</tmEf> yyyy-mm-dd 12:00 H& A2
wf>REXZ3</w> SMOE B
<tmn>-1</tmn> ANSE B
<tmx>7</tmx> D2% B
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 255 B
</data>
<data> 82 & o2 HE

<mode>A01</mode>

@

]
8= MU

%

<tmEf>2013-11-30 00:00</tmEf>

yyyy—-mm-dd 00:00 S Al

AT

wiH>RE X ZL/w> MO e
<tmn>1</tmn> ZMes B
<tmx>8</tmx> 02 B
<reliability> &2 S</reliability> A2 & B
<rnSt>30</rnSt> 2S5 B
</data>

<data> 9SOl EE

<mode>A01</mode>

9YS Mg

<tmEf>2013-12-01 00:00</tmEF>

i
10
ne
>
AL

yyyy—mm-dd 00:00

<w>FR SR E</wi> =00 O1IE'_ EH2
<tmn>3</tmn> M2 B
<tmx>9</tmx> LID%E EH
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 285 B0
</data>

<data> 102% 02 3

<mode>A01</mode>

1020% Mo

.|

<tmEf>2013-12-02 00:00</tmEf>

yyyy—-mm-dd 00:00 S A2

wi>RE RS/ w>

MO B

<tmn>4</tmn> ZMes B
<tmx>8</tmx> 02 B

<reliability>=2 E</reliability> A2 T B
<rnSt>30</rnSt> L4EE B

</data>

</location> <location> Element tag & 7|

<location wl_ver="3">

<location> Element & 2|
SIO0E 2SI HE XS LM

fu]

HL

<province>2 4t - S4t - HAH E</province>

NADE0 OE NAH (R - S -

!
Ak

=

oc

oy
oy

<city>2 &k</city>

HERAICH OE NAH (2L

<data>

R

<mode>A02</mode>

29 % QEUE

<tmEf>2013-11-24 00:00</tmEF>

yyyy-mm-dd 00:00 H& & Al=

<wi>FRERE</w>

SHUE e

<tmn>7</tmn>

ZNMeE B0

<tmx>16</tmx>

025 B0

<reliability>= E</reliability> A2IE B
<rnSt>30</rnSt> 242E B
</data>

<data> 293 02 HE
<mode>A02</mode> 29 % 20

<tmEf>2013-11-24 12:00</tmEf>

yyyy—-mm-dd 12:00 S Al

AL

<wf>SelD HI</wf>

MO B

<tmn>7</tmn>

ZM2E B

<tmx>16</tmx>

FD2E B

<reliability>=2 E</reliability>

Al2lE B0

<rnSt>30</rnSt> S5 B0
</data>

<data> 3YS o2 ¥
<mode>A02</mode> 39S QEUE

<tmEf>2013-11-25 00:00</tmEF>

yyyy-mm-dd 00:00

i
10
e
=
AL

<wf>5eld Hi</wf>

E“MO“E B

<tmn>10</tmn> AMEE B
<tmx>13</tmx> J.T’.%E EH
<reliability> 2 E</reliability> A2IE B

<rnSt>30</rnSt> 288 B0

</data>

<data> 3¢ 0 32
<mode>A02</mode> 32= 2302
<tmEf>2013-11-25 12:00</tmEF> yyyy—-mm-dd 12:00 2 A2
wf>REUS/wH> SAUE B

<tmn>10</tmn>

M2 B

<tmx>13</tmx>

FDN2E B

<reliability>% S</reliability>

A2E B




xml 2E xml &% b2
<rnSt>30</rSt> P mat—2=
</data>
<data> 494% 02 B2
<mode>A02</mode> 425 QEUE
<tmEf>2013-11-26 00:00</tmEf> yyyy-mm-dd 00:00 H& Y A2
wf>REZ3</wH> SMOE B2
<tmn>5</tmn> ANSE B
<tmx>11</tmx> D% B
<reliability> &2 S</reliability> A& B
<rnSt>30</rnSt> 255 B0
</data>
<data> 495 02 BS
<mode>A02</mode> 4945 @50
<tmEf>2013-11-26 12:00</tmEf> yyyy—-mm-dd 12:00 @2 A2
wiH>REZEZL/wH> SAOE B
<tmn>5</tmn> IAM2E B

<tmx>11</tmx>

Zo2E B0

<reliability>% S</reliability>

AlZlE B

<rnSt>30</rSt> P mat—=
</data>

<data> 545 o2 2
<mode>A02</mode> 59% QEUE

<tmEf>2013-11-27 00:00</tmEF>

yyyy-mm-dd 00:00 &

L0
1o
>
AL

<w>FR SRS </wi>

SHUE EHD

<tmn>6</tmn>

ZM2E B0

<tmx>13</tmx>

Z D2 B2

<reliability>% S</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0
</data>

<data> 525 o2 ¥
<mode>A02</mode> 525 QS

<tmEf>2013-11-27 12:00</tmEf>

yyyy—mm-dd 12:00 2 AlE

w>RE RS/ w>

SN0 B

<tmn>6</tmn>

ZMe2E B

<tmx>13</tmx>

Z02&E B0

<reliability>= S</reliability>

AlZlE B

<rnSt>30</rnSt> 2S5 B
</data>

<data> 6= 02 2
<mode>A02</mode> 6% QEUEE

<tmEf>2013-11-28 00:00</tmEF>

yyyy-mm-dd 00:00 & A2

<w>FR SRS </wi>

SHUE e

<tmn>4</tmn>

ZM2E B0

<tmx>10</tmx>

Z D2 B2

<reliability>% S</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0

</data>

<data> 6% 02 HE
<mode>A02</mode> 64E 20 E
<tmEf>2013-11-28 12:00</tmEF> yyyy—-mm-dd 12:00 2 A2
wf>REUSI/wH> A0S B

<tmn>4</tmn> ZMeE B

<tmx>10</tmx>

02 B0

<reliability>= E</reliability>

Al2lE B

<rnSt>30</rSt> 285 B

</data>

<data> 722 HE B
<mode>A02</mode> 795 QEUE
<tmEf>2013-11-29 00:00</tmEf> yyyy—mm-dd 00:00 SE Y Al=
wf>PREZS</wH> SMOE B

<tmn>3</tmn> ZM2E B

<tmx>11</tmx>

025 B0

<reliability>% S</reliability>

Al2IE B0

<rnSt>30</rnSt> 288 B0

</data>

<data> 794 e HE
<mode>A02</mode> 74E 0L
<tmEf>2013-11-29 12:00</tmEf> yyyy—-mm-dd 12:00 2 A2
w>RE X ZL/wh> A0S B

<tmn>3</tmn> ZM2E B

<tmx>11</tmx>

FD2E B

<reliability>=2 E</reliability>

Al2lE BT

<rnSt>30</rnSt> 285 B0
</data>
<data> 8= E BE

<mode>A01</mode>

<tmEf>2013-11-30 00:00</tmEF>

yyyy—mm-—dd 00:00 S A2

wf>PREZS</wH> SMUE B
<tmn>4</tmn> IANSE B
<tmx>12</tmx> D& B
<reliability> 2 E</reliability> A2IE B
<rnSt>30</rnSt> 2488 B0
</data>

<data> 92 = o2 HE

<mode>A01</mode>

<tmEf>2013-12-01 00:00</tmEf>

yyyy-mm-dd 00:00 & AlZ

wf>REUS/wH> ML B
<tmn>5</tmn> ZHM2E B

<tmx>13</tmx>

FDN2E B




xml 2&

xml &9

s [}

<reliability>2 S</reliability>

<rnSt>30</rnSt> 285 B0
</data>
<data> 1025 o2 88

<mode>A01</mode>

1025 Helo) 2

<tmEf>2013-12-02 00:00</tmEf>

yyyy—mm-dd 00:00 & A=

wf>TR S S</wf>

MO B

<tmn>6</tmn>

FM2E B

<tmx>13</tmx>

Zo2E B0

<reliability>% S</reliability>

AlZlE B

<rnSt>30</rnSt> 228 e
</data>
</location> <location> Element tag EJI

<location wl_ver="3">

<location> Element Z 7|
S0l PHICH OE XA &

<province>2 4t - S4t - HAH E</province>

<city>£ &k</city>

ANADC OHE NAH (2L - S4E -

HEFADC OGHE XAH(S4)

<data> 295 o2 HE
<mode>A02</mode> 245 QEULE
<tmEf>2013-11-24 00:00</tmEf> yyyy—-mm-dd 00:00 S A2
wf>REUS/wH> SAOE B2

<tmn>5</tmn> ANSE B

<tmx>16</tmx>

D% e

<reliability> 2 E</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0
</data>

<data> 29% 02 B
<mode>A02</mode> 2285 20

<tmEf>2013-11-24 12:00</tmEF>

yyyy-mm-dd 12:00 H& 2 A&

<wf>Seld HI</wi>

SN0 B

<tmn>5</tmn>

ZMe2E B

<tmx>16</tmx>

Zo2&E B0

<reliability> & S</reliability>

AlZlE B

<rnSt>30</rnSt> 2S5 B
</data>

<data> 3¢S o2 32
<mode>A02</mode> 32% QEUE

<tmEf>2013-11-25 00:00</tmEF>

yyyy-mm-dd 00:00 & A2

<wf>SelD HI</wf>

SHUE EHD

<tmn>9</tmn>

ZM2E B0

<tmx>13</tmx>

Z D2 B2

<reliability> 2 E</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0

</data>

<data> 3YUS o2 ¥
<mode>A02</mode> 39S 25U
<tmEf>2013-11-25 12:00</tmEF> yyyy—-mm-dd 12:00 2 A2
wf>REUSI/wH> A0S B

<tmn>9</tmn> ZMeE B

<tmx>13</tmx>

02 B0

<reliability>% S</reliability>

Al2lE B

<rnSt>30</rSt> 285 B

</data>

<data> 425 2 EE
<mode>A02</mode> 4945 QEME
<tmEf>2013-11-26 00:00</tmEf> yyyy—mm-dd 00:00 SE Y Al=
wf>PREZS</wH> SAOE B

<tmn>3</tmn> ZM2E B

<tmx>10</tmx>

025 B0

<reliability>% S</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0

</data>

<data> 4945 08 3
<mode>A02</mode> 495 FUE
<tmEf>2013-11-26 12:00</tmEF> yyyy—-mm-dd 12:00 2 A2
w>RE X ZL/wh> A0S B

<tmn>3</tmn> ZMeE B

<tmx>10</tmx>

02 B0

<reliability>= E</reliability>

Al2lE B

<rnSt>30</rnSt> S5 B0
</data>

<data> 52% E BE
<mode>A02</mode> 545 QAU

<tmEf>2013-11-27 00:00</tmEF>

yyyy—mm-—dd 00:00 H& & A

M

<w>FRE RS </w>

SHOE e

<tmn>4</tmn>

FM2E B

<tmx>13</tmx>

Zo2E B0

<reliability>% S</reliability>

AlZIE B

<rnSt>30</rnSt> 288 B0

</data>

<data> 5% 02 HE
<mode>A02</mode> 52% 2FHE
<tmEf>2013-11-27 12:00</tmEF> yyyy-mm-dd 12:00 H2 A2
wf>REUS/wH> SAUE B

<tmn>4</tmn> ZHM2E B2

<tmx>13</tmx>

FDN2E B

<reliability>% S</reliability>

A2E B

<rnSt>30</rnSt>

2458 60

</data>




xml 2= xml &9 b2
<data> 6= 02 2
<mode>A02</mode> 6YE 2F0E
<tmEf>2013-11-28 00:00</tmEf> yyyy-mm-dd 00:00 H& Y A2
wf>PEUS/wH> SMOE B
<tmn>2</tmn> ZAMH2E B0

<tmx>10</tmx>

D% e

<reliability>% S</reliability>

Al2IE BT

<rnSt>30</rnSt> 225 B
</data>

<data> 6% 0l HE
<mode>A02</mode> 625 2SUEE

<tmEf>2013-11-28 12:00</tmEf>

yyyy—mm-dd 12:00 2 AlE

wi>TR S S</wf>

SN0 B

<tmn>2</tmn>

FM2E B

<tmx>10</tmx>

Zo2E B0

<reliability>% S</reliability>

AlZlE B

<rnSt>30</rSt> Pt =

</data>

<data> 745 02 32
<mode>A02</mode> 79% QEUE
<tmEf>2013-11-29 00:00</tmEf> yyyy—-mm-dd 00:00 HE & A2
wf>REZ3</w> SMOE B2

<tmn>0</tmn> ANSE B

<tmx>11</tmx>

Z D2 B2

<reliability> 2 E</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0

</data>

<data> 725 02 38
<mode>A02</mode> 795 2S0WE
<tmEf>2013-11-29 12:00</tmEF> yyyy—-mm-dd 12:00 @2 A2
wH>RE X ZL/w> A0S B

<tmn>0</tmn> ZMes B

<tmx>11</tmx>

Zo2&E B0

<reliability> & S</reliability>

AlZlE B

<rnSt>30</rnSt>

</data>

<data>

<mode>A01</mode>

<tmEf>2013-11-30 00:00</tmEF>

yyyy-mm-dd 00:00 & A&

wf>PREZ3</wH>

SHUE EHD

<tmn>2</tmn>

ZM2E B0

<tmx>12</tmx>

Z D2 B2

<reliability> 2 E</reliability>

Al2IE B0

<rnSt>30</rnSt>

</data>

<data>

<mode>A01</mode>

<tmEf>2013-12-01 00:00</tmEf>

yyyy—-mm-dd 00:00 H& S A2

wf>REUSI/wH> A0S B
<tmn>2</tmn> ZMeE B

<tmx>13</tmx>

02 B0

<reliability>=2 E</reliability>

Al2E B

<rnSt>30</rSt> 285 B
</data>
<data>

102= o2 82

<mode>A01</mode>

10e= HLUE

<tmEf>2013-12-02 00:00</tmEF>

yyyy—-mm-dd 00:00 2 & A2

<wi>FRERE</w>

SHUE e

<tmn>3</tmn>

ZMeE B0

<tmx>13</tmx>

025 B0

<reliability> 2 E</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0
</data>
</location> <location> Element tag &J|

<location wl_ver="3">

<location> Element & |

SI0E PHICH HE XN UM L HE 38
<province>2 4t - S4t - HAH & </province> ANADE0 M2 XAH(RA - A=)

<city>& & </city>

HERAICH OE NAH(HH)

<data> 293 02 HE
<mode>A02</mode> 225 QEUE
<tmEf>2013-11-24 00:00</tmEF> yyyy-mm-dd 00:00 & AlZ
wf>REUS/wH> SAUE B

<tmn>6</tmn> ZM2E B

<tmx>15</tmx>

FD2E B

<reliability>=2 E</reliability>

Al2lE BT

<rnSt>30</rnSt> S5 B0
</data>

<data> 22 2 3L
<mode>A02</mode> 29 % QS

<tmEf>2013-11-24 12:00</tmEF>

yyyy—-mm-dd 12:00 H2 Al

AL

<wf>5eld Hi</wf>

SHOE e

<tmn>6</tmn>

FM2E B

<tmx>15</tmx>

Zo2E B0

<reliability> 2 E</reliability>

AlZIE B

<rnSt>30</rnSt> 2488 B0
</data>

<data> 3¢S ol 38
<mode>A02</mode> 34E QEUE

<tmEf>2013-11-25 00:00</tmEf>

yyyy—-mm-dd 00:00 &

0
ne
>
AL




xml 2&

xml &9

s [}

<wf>Sel1 Hi</wf>

MO B

<tmn>9</tmn>

FMSE B

<tmx>13</tmx>

Zo2E B0

<reliability>% S</reliability>

AlZlE B

<rnSt>30</rSt> 2=

</data>

<data> 3g= ol 32
<mode>A02</mode> 32% FWE
<tmEf>2013-11-25 12:00</tmEf> yyyy-mm-dd 12:00 H2 A2
wf>REUS/wH> SAUE B

<tmn>9</tmn> ANSE B

<tmx>13</tmx>

D% e

<reliability>% S</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0

</data>

<data> 49% 08 8
<mode>A02</mode> 4945 QEUE
<tmEf>2013-11-26 00:00</tmEf> yyyy—-mm-—dd 00:00 S A2
wiH>REZEZL/w> MO e

<tmn>3</tmn> AM2E B

<tmx>10</tmx>

Zo2E B0

<reliability>% S</reliability>

AlZlE B

<rnSt>30</rSt> P mat—=

</data>

<data> 425 02 3
<mode>A02</mode> 495 QS0
<tmEf>2013-11-26 12:00</tmEf> yyyy-mm-dd 12:00 H& A2
wf>PREES</wH> SMUE B

<tmn>3</tmn> M2 B

<tmx>10</tmx>

Z D2 B2

<reliability> 2 E</reliability>

Al2IE B0

<rnSt>30</rnSt> 285 B0
</data>

<data> 525 o2 ¥
<mode>A02</mode> 545 QEUE

<tmEf>2013-11-27 00:00</tmEf>

yyyy—-mm-dd 00:00 S A2

w>R SRS </w>

SN0 B

<tmn>4</tmn>

ZMe2E B

<tmx>13</tmx>

Z02&E B0

<reliability>= S</reliability>

AlZlE B

<rnSt>30</rnSt> 2S5 B
</data>

<data> 545 o2 2
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